UGC NET 2022 GEOGRAPHY

Topic:- 80_PARTA_Set1

1) Map is showing the passes of Kashmir Himalayvas. Which of the sequence of labelled passes
in ascending order iz correct?
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[Question ID = 701][Question Description = 101_80_Geography_0CT22_Q01]

1. 1. Karaltoram 2. Qura Tag 3. Lanak La 4. ChangLa 5. UmasiLa 6. Banihal
7. Pir Panjal. 8. Zoii La

L. FPERE, 2. T AL, 3. 5F A1, 4. ST A, 5. 39TE] S, 6. "R, 7. 9 T, 8. FE e

=y

[Option ID = 2801]

, 1. Karakoram 2. Quara Tag 3. ChangLa 4 LanakLa 5. Umasi1 La 6. Banihal
7. Pir Panjal 8. Zeji La

. FAPEEE, 2. AT, 3. 90 A, 4 F9F A, 5. IO @, 6. |EEE, 7. 00 gEE, 8. A T o

[Option ID = 2802]

;. 1. Karakoram 2. Aghil 3. Lanak La 4. UmasiLa 5. ChangLa 6. Banihal
7. Pir Panjal 8, Zoji La

|, FrEEE, 2. @, 3. FF o, 4 ZATE @, 5. =90 AL 6. SR, 7. W U, §. A e

[Option ID = 2803]

1. Karakoram 2. Saser La 3. Lanak La 4. Chang La 5. Umasi La 6 Pir Panjal
7. Qura Taz 8 ZojiLa

1. TPERE, 2. OO W, 3. R A, 4. 9W W, 5. 3ET e, 6.7 9N, 7.9 e, 8. A e
[Option ID = 2804]
2) EKnock-knee syndrome (outward bending of legs from knees) 15 mainly cauzed due ta:

At Al fEm (FEEm) (S @ A 2w A A S e O A 2

[Question ID = 702][Question Description = 102_80_Geography_0OCT22_Q02]
1. Fluoride pollution



[Option ID = 2805]
2. Tead pollution
== () TeEm

[Option ID = 2806]
3. Mervcury pollution

TR (W) T

[Option ID = 2807]
4. Carbon-di-oxide pollution

FE-SE-AFAIES TEE0

[Option ID = 2808]

3)  Which of the following is associated with international agreement on ‘substances that deplete
the ozone layer”

T S SIS W F R I R, R AU SHEi 1 g e 3 9 e R 7
[Question ID = 703][Question Description = 103_80_Geography_0CT22_Q03]
1. Paris Agreement

[Option ID = 2809]
2. Marrakech Accord

[Option ID = 2810]
3. Kyoto Protocol
TP
[Option ID = 2811]
4. Montreal Protocaol

':, . - 2 '_
[Option ID = 2812]

4) To examine the state of world environment and development beyond 2000, UN General
Assembly set up World Commission on Environment and Development (WCED) in 1983,
which is also known as;

9 U A SEEEEl J 2000 % = i (9va wEE S A i e A e 1985 § s s
o w Tava wHEE (WCED) s, T8 Fq1 3@ 2 -

[Question ID = 704][Question Description = 104_80_Geography_0OCT22_Q04]

1. Commission on Sustainable Development

[Option ID = 2813]
2. PBrundtland Commission



[Option ID = 2814]
3. Apenda-—21

AT — 21

[Option ID = 2815]
4. Chipko Commission

[Option ID = 2816]

5) The report entitled "Our Common Future” was submitted in 1987 by

FHET G gt o i e 1087 # e 7 wwaa 1 A

[Question ID = 705][Question Description = 105_80_Geography_0OCT22_QO05]
1. Food and Agricultural Organization

[Option ID = 2817]
2. World Meteorological Organization

[Option ID = 2818]
Intergovernmental Panel on chimate change

[Option ID = 2819]
4. Brundtland Commission

3.

[Option ID = 2820]

6) In India National Ambient Air Guality Monitoring (NAAGQM) programme was initiated by
G 0 TEE e S TEET T EEEE (U T e ) ey e o

[Question ID = 706][Question Description = 106_80_Geography_0CT22_Q06]

1. National Environmental Research Institute

[Option ID = 2821]
2. Central Pollution Contral Board

o TR e A

[Option ID = 2822]

3. India Metearological Department
T SEE-EEE =

[Option ID = 2823]

4. National Institute of Urban Affairs

[Option ID = 2824]



7)  Which term is used by W, Penck to denote waning development of landforms?

e & BHEN [ i HGE 9 50 Savd UF gl 598 H 6E 0% 1 T R T 2 7

[Question ID = 707][Question Description = 107_80_Geography_0CT22_Q07]
1. Primarumpf

HIgHTH

[Option ID = 2825]
2. Aufsteizende entwickelung

e

[Option ID = 2826]
3. Gleichformize entwickelung

ﬂ |‘f'\' ﬁ-;, ;
[Option ID = 2827]
4. Ahsteigende entwickelung

[Option ID = 2828]

8) Cambay Graben is associated with which one of the following earthquake?

T8 T (T Ed R A T O W Tl 27
[Question ID = 708][Question Description = 108_80_Geography_0OCT22_Q08]
1. Bhuj earthquake
T e

[Option ID = 2829]
2. Latur earthquake

[Option ID = 2830]
3. Jahalpur earthguake

[Option ID = 2831]
4. Quetta. Baluchistan earthquake

[Option ID = 2832]
9)  Which one of the following term is not related to Continental Drift Theory?

T=ieET B 3 F9-91 9% TR TaE Waie O getad e et
[Question ID = 709][Question Description = 109_80_Geography_0OCT22_Q09]
1. Panthalasa
HorrraT

[Option ID = 2833]
2. Palecelimate



RUEEEIE

[Option ID = 2834]
3. Sea floor spreading

Tt A T

[Option ID = 2835]
4. g saw fit

[Option ID = 2836]
10)  Which one of the following fault has greater risk of landslides?
Tefeatign T8 W9 5 -ge I AEA W31 FI0EH i 7 A

[Question ID = 710][Question Description = 110_80_Geography_0CT22_Q10]
1. Strike-slip or Transcurrent fault

e w9ET SFhg g 99

[Option ID = 2837]
2. Normal fault

T w9

[Option ID = 2838]
3. Reverse fault

'D‘q r'},}:] ;a
3

[Option ID = 2839]
4. Over thrust fault

Hieriams w1

[Option ID = 2840]

11)  Identify the correct statement from the following:
fretafgs @ | 981 599 = T

[Question ID = 711][Question Description = 111_80_Geography_0OCT22_Q11]
1. Wind is deflected to its right in the southern hemisphere

Er i B o BB T e o et = O = o L i e B

[Option ID = 2841]
2. (Geostrophic wind blows parallel to the 1sobars

izl was wuee @] &+ gHE TAlEd S 2

[Option ID = 2842]
3. Wind speed increases with friction

T I TE GE F WY weAl v

[Option ID = 2843]
4. Wind speed is inversely proportional to pressure gradient force

W W TMiE. T TEUET S 9 SHehd @EEaEl wEl E



[Option ID = 2844]

12) In which one of the following fronts, warm air is completely displaced from the sround

surface?
g 9 T gEm | w3 T = 90w EiE w5 A A
[Question ID = 712][Question Description = 112_80_Geography_0CT22_Q12]
- Oceluded front

[Option ID = 2845]
2. Cold front

[Option ID = 2846]
3. Warm front

L e 1

[Option ID = 2847]
4. Stationary front

[Option ID = 2848]
13)  The dating and study of annual rings of trees iz called:

T F AF TE F FEEGRT G FETF F FA 1w

[Question ID = 713][Question Description = 113_80_Geography_0CT22_Q13]
1. Morphology

[Option ID = 2849]
2.  FEccentricity

.31"3{;,:.- T

[Option ID = 2850]
3. Precession

[Option ID = 2851]
4. Dendrochronology

T FIATTHAT
[Option ID = 2852]

14)  Who has authored the famous book. Mugaddimah'?

[Question ID = 714][Question Description = 114_80_Geography_0CT22_Q14]
1. Tbn Batuta

= A



[Option ID = 2853]
2. Al Burum
T —TEAD

[Option ID = 2854]
3. Alddrist

FA-Te

[Option ID = 2855]
4. Tbn-Khaldun

-

[Option ID = 2856]

15) A scholar of which origin coined the term “permafrost’ to explain the frozen characteristics of
the Siberian scils?

[Question ID = 715][Question Description = 115_80_Geography_0OCT22_Q15]
1. Awmerican

i

[Option ID = 2857]

2. Britizh
fat==
[Option ID = 2858]
3. French

[Option ID = 2859]
4. German

=

=

[Option ID = 2860]

16)  Which perspective In geography 1z associated with Ferdinand de Saussure?

YT % TR TEEl o E HeAS § 997 A
[Question ID = 716][Question Description = 116_80_Geography_0OCT22_Q16]
1. Positivism
B 2 L
[Option ID = 2861]
2. Behaviouralism
HArlds

[Option ID = 2862]
3. Feminism

i~

(10 ’]l:\



[Option ID = 2863]
4. Structuralism
[Option ID = 2864]
17) Which one of the following model of the internal structure of the city emphasizes the
importance of transport routes?
T F] AN T ARG Fi W 5 TEA F 0 6 Bued W A 4 2 ¢
[Question ID = 717][Question Description = 117_80_Geography_0CT22_Q17]
1. 'Concentric model
WS Hise
[Option ID = 2865]
2. Sector model

[Option ID = 2866]
3. Multiple nuelei model

[Option ID = 2867]
4. TUrban social area model

T AT 59 G916
[Option ID = 2868]

o

18)  Which ministy of Government of India looks affer Census operations in India’

et 8 5 %1 T S0 95FR T 59 29 5 ST B R A9 T B

[Question ID = 718][Question Description = 118_80_Geography_0CT22_Q18]
1. Ministry of Statistics and Programme Implementation

i 310 FEEE FE=E99 9974

[Option ID = 2869]
2. Ministry of Education

ToE HaTe
[Option ID = 2870]
3. Ministry of Home Affairs
[Option ID = 2871]
4. Mhnistry of Finance
[Option ID = 2872]

19)  Which one of the following stasze In demographic transition model describes the situation of
high and stable birth vate along with high and fluctuating death rate?
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[Question ID = 719][Question Description = 119_80_Geography_0CT22_Q19]

1. Early expanding stage

[Option ID = 2873]
2. Tate expanding stage

[Option ID = 2874]
3. Higzh stationary stage

[Option ID = 2875]
4. Low stationary stage
[Option ID = 2876]

20) A pesressive population age structure is likely to be encountered in a country:

T WIAHT A AT el A 53 H AT T A S S eTEET 2 7
[Question ID = 720][Question Description = 120_80_Geography_0CT22_Q20]

1. swhich has completed the demographic transition

[Option ID = 2877]

2. yvhere the voung and old population are balanced

[Option ID = 2878]
3. which has young population

Toeehl S 7= B

[Option ID = 2879]
4. which 12 1n the early expanding stage of demographic transition

1 FATFH TFEW F TAESF I = g

[Option ID = 2880]
As per the Nearest Neighbourhood analysis, an index value of 2.5 suggests that the

21)
gettlements are:

[Question ID = 721][Question Description = 121_80_Geography_0CT22_Q21]

1. Clustered

=g



[Option ID = 2881]
2. Highly clustered

[Option ID = 2882]
3. Randomly distmbuted

amfaF =9 F Aty
[Option ID = 2883]
4. Evenly spaced
W—T’I:'{?T

[Option ID = 2884]
22) The geometrical shape formed by a group of buildings is termed as:

[Question ID = 722][Question Description = 122_80_Geography_0CT22_Q22]
1. Site
T

[Option ID = 2885]
2. Pattern

e

TraE=T

[Option ID = 2886]
3. Lopeation

[Option ID = 2887]
4. Situation

[Option ID = 2888]

23) T4t
Crop Diversification Index = -
(Tx)

In the above formula. ‘x’ refers to:

[Question ID = 723][Question Description = 123_80_Geography_0CT22_Q23]

1. (Gross cropped area

[Option ID = 2889]
2. Total cropped area occupied by éach erop

TEF FEE ® SE B FEAE 8

[Option ID = 2890]



3. Net sown area

[Option ID = 2891]
4. Net sown area cccupled by each erop

TRl HHE * HTd g AT T A

[Option ID = 2892]

24)

(A)

(B)
(C)
(D)
(E)

Which of the following 1s/are not the cause/causes of floods in Brahmaputra river system?

Tributaries of Brahmaputra bring huge gquantity of water and silt, heavy deposit of
s1lt has raised the rver bed

Faulty agricultural practices
Occasional earthguakes have brought about changes in the course of mver
Broadness of the Brahmaputra Valley

Very high population pressure has forced the population to live in the flood prone
area

Choose the correct answer from the options given below !

Fiflas & | F4 91/3 7= T4 73 5 AW G 9 F W w5 6 9 v

(A)  FEF F FEEF A @ g6 H I 0 e (fe) =l § | R A 59 A 96w o
e T o

B) T I TEE
(C)  Hiama g 7 75 F 59 R 9 A
D)  FE = i areE

(B) 17 39 SAa7= % =91 7 985 F 9% THEE S0 6 4 F S A 9 e w

Hig o0, U fameal | @ WA 3 F 999 i

[Question ID = 724][Question Description = 124_80_Geography_0CT22_Q24]

. {A) only

Fad (A)

[Option ID = 2893]
2. (B) and (C) only

Fae (B) @it (C)

[Option ID = 2894]
3. (B) and (D) only

¥4 (B) =7 (D)

[Option ID = 2895]

4. (E)only

F7= (E)

[Option ID = 2896]

25)

How does Gunnar Mrydal (1957) describe the generation of regional inequalities at the

national and international levels in his theory of Circular Cumulative Causation?



T THEe (1957) 9 S Gom H=l 00 & [Hg 0 TP AR ATEE W W e SEEEEAT 5
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[Question ID = 725][Question Description = 125_80_Geography_0OCT22_Q25]
. Forward and backward linkages

AT @1 qr=E Ay ()

[Option ID = 2897]

2. Push and pull factors
[Option ID = 2898]
3.

Backwash and spread effects

[Option ID = 2899]

4. Balance and unbalanced srowth

e 37 A 9ig

[Option ID = 2900]

26)

Whe among the following authors have propesed ‘Tourism Area Iiafe Cyele (TALC) model
illustrating how tourism develops and changes over time in a region”

fefEs © 1 e oeF 3w @7 F F99 9% (TALC) & #isg §, 7929 § 9 &40 599 % o7y
TF WS W WM ST 9EeA 1 9Ee e A ¢

[Question ID = 726][Question Description = 126_80_Geography_0CT22_Q26]
1. John Glasson. 1956

T TAEA, 1956

[Option ID = 2901]

2. Richard Butler. 1980

T2 ==, 1930

[Option ID = 2902]

3. David Harvey. 1945
s =, 1045
[Option ID = 2903]
4.

REohert Prozzer, 1982
e A, 1982
[Option ID = 2904]

27)  What is Debt Service Ratio?

0 T A9 T A

[Question ID = 727][Question Description = 127_80_Geography_0CT22_Q27]

1. It is the proportion of & counfry’s export earnings that it needs to use to meet its debt
repayvment



== Tt 77 & T o = aE S92, A s = e 9§ I e 2

[Option ID = 2905]
It is the proportion of a eountry’s total national income that it needs to use to meet it=

2.
debt repayvment
=% T =91 il F U AE T 9F 39 7, THEE IR 0 T 6 ® 3ET w2
[Option ID = 2906]
3. It is the proportion of a country’s income from services sector that it needs to use to
meet its debt repayment
T= TFH1 59 F = &7 F A F 95 A9 7, (5 IEE B e L gE 5 350 w5
[Option ID = 2907]
4 I is the proportion of a country's total income from manufacturing sector that it

needs to use to meet its debt repayment
77 Tl o ) A (A 49 5 F o W 9 99 2, T sed s g g
T I =4 2
[Option ID = 2908]
28) Which one of the following is the boundary line between India and Pakistan?
TF=ieatgs ® @ i H YE 10 S o A H@ie ) B

[Question ID = 728][Question Description = 128_80_Geography_0CT22_Q28]
1. Durand Line

[Option ID = 2909]
2. Blue Line

[Option ID = 2910]
3. Radcliffe Line
T I
[Option ID = 2911]
4. MeMohan Line

[Option ID = 2912]

29) How is ‘Cultural Hearth' defined?

[Question ID = 729][Question Description = 129_80_Geography_0CT22_Q29]

It iz concerned with the power of spreading of various cultural phenomena on the
earth from a source or sources of origin

TF TEA F UR A A A F 9 WAt wEeE Gt ® S oo |

[Option ID = 2913]
2. The hirth place of a cultural group assomated with a particular cultural landsecape

1.



T (At AEREE Y59 (R § A5 T AEFE 95 9 TH

[Option ID = 2914]
3. Cultural parameter that specify learned behaviour

[Option ID = 2915]
4. Cultural regions showing cultural complexes and landscapes

i T (e (Foeras) T Y599 F 9 95 SRsas ue

[Option ID = 2916]
30) Which one of the following is not a Particularly Vulnerable Tribal Groups (PVTGs)?

Tretetiga & @ =ia faREr=s: wEiias S @9 (PVTGs) 76 27

[Question ID = 730][Question Description = 130_80_Geography_0OCT22_Q30]

1. Vantansgia
T

[Option ID = 2917]

2. Marram Nagas

HH AT

[Option ID = 2918]
3. Behanas

Sy

= L]

[Option ID = 2919]
4. Reangs

[Option ID = 2920]

31)  Which ane of the following statistical technique is used to analyse the interdependence of the
variables?

=1 H AT (SIS0 ) F ETET e (=0 iegd O (6 O GiieahE aEAs H
TP T A R

[Question ID = 731][Question Description = 131_80_Geography_0OCT22_Q31]

1. Location Quotient

[Option ID = 2921]
2.  Standard Score

o W (TEUss o)

[Option ID = 2922]
3. Co-efficient of variability

[Option ID = 2923]
4. Principal Components Analyvsis



T HEET T e (e FeaeeE oA )

[Option ID = 2924]

32) Which are the three component indicators used by AMLD. Morris (1979) to caleulate the
FPhysical Quality of Life Index (PQLI)?7

wq i, A (1979) 7 Siaw 1 i e e (99,059,508, ) F 9w % o e §
T TEE Rl F I R R
[Question ID = 732][Question Description = 132_80_Geography_0CT22_Q32]
1. Infant Mortality Rate, Life Expectancy af age One. Basic Literacy at age 15
fore 9 =7, v =0 1 38 W = geaEn, 15 79 39 W g =@

[Option ID = 2925]
2. Maternal Mortality Rate. Literacy at age 7 years. Life Expectancy

o9 UG 7, 7 99 i 3§ T A, 9T T

[Option ID = 2926]
3. Neo-natal Mortality Rate, Women Iiteracy Rate. Life Expectancy at age one

T 19 T ST HiET VAT oF, OF 99 S 38 W A=A e

[Option ID = 2927]
4. Infant Mortality Rate. Out of School Children. Life Expeciancy at age one

=19 92 =, T T e 3 v w9 g, T 96 1 3 T S T
[Option ID = 2928]
33)  The elements-site, situation and association fall in which order of Aerial image interpretation?

AR IO R F AT e, R T o e e g e A ¢

[Question ID = 733][Question Description = 133_80_Geography_0CT22_Q33]

1. Primary

[Option ID = 2929]
2. Secondary

lcieed

[Option ID = 2930]
3. Tertiary

-

[Option ID = 2931]
4. Higher

S
[Option ID = 2932]

34) ‘Who is the first person to coin the term ‘Geopolitik™?

T =i = THETE R (T ) 95, FETEE T
[Question ID = 734][Question Description = 134_80_Geography_0CT22_Q34]



_

Friedrich Ratzel

[Option ID = 2933]
Rudolf Kjellen

N

[Option ID = 2934]
3. Karl Haushofer

[Option ID = 2935]
4. Peter Kropotin

ot
[Option ID = 2936]

35)  Which agency 1s assoclated with IKONOS remote sensing data?

T o 1 Hag IKONOS Tz Fafem = (g—wasl swsi) @ 27
[Question ID = 735][Question Description = 135_80_Geography_0CT22_Q35]
1. Digital Globe

. 5
[Option ID = 2937]
2. ImageSat International Inc,

[Option ID = 2938]
3. Digital Image

[Option ID = 2939]
4. ORB Image

[Option ID = 2940]

36) A point data 1s;
[Question ID = 736][Question Description = 136_80_Geography_0OCT22_Q36]
1. 0D — Dimensionless
0D - s e
[Option ID = 2941]
2. 1D -1 dimensional
1D - -

[Option ID = 2942]
3. 2D —2 dimensional



2D - fg-zmmd

[Option ID = 2943]
4. 3D - 3 dimensional

3D - - @

[Option ID = 2944]

37) Five Indian metros with respect to total population are arranged in descending order, which
of the following sequence is correct?

Fel FEEA F HEY H UFS F 0" G2 F SE0E F9 § =afdn e e 2 | FoieiEs 8 e o
ST A 2

[Question ID = 737][Question Description = 137_80_Geography_0OCT22_Q37]
1. Mumbai, Delhi, Kolkata, Chennai. Bengaluru

[Option ID = 2945]
2. Delhi. Eolkata, Mumbai. Chennai. Berigaluru

[Option ID = 2946]
3. Mumbai. Eolkata. Delhi. Bengaluru, Chennai

[Option ID = 2947]
4. Mumbai. Delhi. Chennai. Kolkata. Bengaluru

A o

[Option ID = 2948]
38)  Which one of the following is not correctly matched?

Tr=TieTtEd B F = = F FEE A

[Question ID = 738][Question Description = 138_80_Geography_0CT22_Q38]
1. Cherry Blossoms — Karnataka

[Option ID = 2949]
2. Norwesters — West Bengal. Assam and Odisha

TeEET - UivEm W, S8 S s

[Option ID = 2950]
3. Loo—North India

5 - I aEd

[Option ID = 2951]
4. Mango showers — Maharashtra

i A

[Option ID = 2952]



39) Ammonification is an important process in;

[Question ID = 739][Question Description = 139_80_Geography_0CT22_Q39]

. Phosphorus eycle

FEETH 9% |

[Option ID = 2953]
2. Carhon cycle

F1E TF A
[Option ID = 2954]
3. Nitrogen cyvele

AT 9
[Option ID = 2955]

4. QOxygen cycle
ST = |

[Option ID = 2956]

40) Which one of the following is not correctly matched?
Ta=rtertam | | T8 T oo wa a6 2 7

[Question ID = 740][Question Description = 140_80_Geography_0OCT22_Q40]
1. Devprayag — Bhagirathi + Alaknanda

[Option ID = 2957]
2. Rudraprayag — Mandakini + Alaknanda

=g AT - HElEAT + T
[Option ID = 2958]
3. Karnpravag — Bhagivathi+ Pindar
I T - el + st
[Option ID = 2959]
4. Vishnupravag— Dhauliganga + Alaknanda
iy e A B e
[Option ID = 2960]

41) An ecological suceession which begins on a place rich in inorganic eontents but poor in organie
contents is called:

UF TMHIE T AT A1 5 sFeis 50 3 ¥=0 Wed FEiE A9 5 Aed 0l 9 S9E J gn a2

7, el &

[Question ID = 741][Question Description = 141_80_Geography_OCT22_Q41]

1. Autogenic succession

e

~



[Option ID = 2961]
2. Allpgenie succession

ST (TEATAAR ) AT

[Option ID = 2962]
3. Induced succession

IETie (3=9Es) FaFa

[Option ID = 2963]
4. Autotrophic sucecession

ATZZTF HATFA

[Option ID = 2964]
42) Which one of the following local wind is a Katabatic wind?

e 5 @ 5 |l THE 99 T 2SS ) 95 A
[Question ID = 742][Question Description = 142_80_Geography_OCT22_Q42]
1. Chinook

i
Iﬂ]’[

[Option ID = 2965]
2. Foehn
Fid
[Option ID = 2966]
3. Banta Ana
AT A
[Option ID = 2967]
4. Mhstral

Tz

e

[Option ID = 2968]

43) In 2020-21. India exported poultry products to which of the following countries?

(A) Oman

(B) Maldives
() Palkistan
(D) Indonesia
(E)  Thailand

Choose the correct answer from the Gptions given below :



a9 2020-21 ¥ 97 7 FAET 570 § § FRE W Seam w5 i

(A)  omm
(B Hiegd

(C) gEe

(D)  sEEEE
(E) =Eens
1= fou U e 8 H T I R 999 hE

[Question ID = 743][Question Description = 143_80_Geography_0OCT22_Q43]
1. (A) only

e (A)
[Option ID = 2969]
2. (A) and (B) only
¥4 (A) 51 (B)
[Option ID = 2970]
3. (C) and (E) only
Fae (C) A1 (E)
[Option ID = 2971]
4. (A), (B) and (D) only
Ta= (A). (B) 3 (D)

[Option ID = 2972]

4) As per Census of India. 2011 arrange the following Union Territories in a descending
order according to the recorded literacy rates.

{A) Chandigarh. Puducherry. Daman & Diu. Dadar Nagar Haveli
(B) Puducherry, Chandigarh, Dadar Nagar Haveli, Daman & Diu
(Q) Chandigarh, Dadar Nagar Haveli. Puducherry. Daman & Diu
(D) Daman & Diu. Puducherry. Chandigarh. Dadar Nagar Haveli
(E} Daman & Due, Chandigarh. Puducherry, Dadar Nazar Haveli

Choose the correct answer from the options given below :
e i FET, 2011 F AR Feleiga e oiEe T S 3 QIR o & 9E HaE e
Y =EfEyE ifE
B) T, FEE, T T EA, T AR A
(D) =AF =% o, a5, SErE, T TR
= o T T qt B # | I = i

[Question ID = 744][Question Description = 144_80_Geography_OCT22_Q44]
1. {A) only



T (A)

[Option ID = 2973]

Socotra-Chagos

Socotra-Chagos

Socotra-Chagos

Socotra-Chagos

2. {A)and (E) only
Fae (A) 571 (E)
[Option ID = 2974]
3. (A), (B) and (C) only
Fae (A). (B) #7 (C)
[Option ID = 2975]
4. (E) only
Fa (E)
[Option ID = 2976]
45)  The proper sequence of ridees from South to North in the Indian Ocean is
(A) Kergelen-Gausserberg ridge: Chagos-Saint Paul ndge:
Laccadive-Chagos ridge
(B) Kergelen-Gausserberg ridge: Chagos-Saint Paul nmdge:
Andaman-Nicobar ridge
(C) Chagos-Saint Paul ridge: Kergelen-Gausserberg ridge:
Laccadive-Chagos ridge
(D) Chagos-Saint Paul mdge: Kergelen-Gausserberg rdge:
Andaman-Nicobar ridge
Choose the correct answer from the options given below :
e HEEPT | SiEw J 3T F1 % FH AR TR R
(A) T - TEET w2, SH-HTE TS Fe, B - HE, waa - =TE
(B) T — TS e, STH-HE e e, I - e, S - e
(C)  =TE-TvZ O FF, W OIEA-TEE T2, -G F2F, FEET - 9T
(D) = TE-ETE U 2, T - 2, AR e, FSHA TN

=g oo 0 faweal B F TE 39 R 999 FiiE

[Question ID = 745][Question Description = 145_80_Geography_0CT22_Q45]
(A) and (D) only

1.

2.

3.

4.

= (A) # (D)

[Option ID = 2977]
(A). (B) and (C) only

T (A), (B) #1(C)

[Option ID = 2978]
(A) and (B) only

e (A) A1 (B)

[Option ID = 2979]
(B). (C) and (D) only

4= (B). (C) ¥ (D)

ridge:
ridge:
ridee:

ridege:



[Option ID = 2980]

46)  Which of the following statement is/are correct?

(A) Denudation involves weathering, mass wasting and erosion
(B) Phyvaical Weathering and Mechanical Weathering process differ only in scale

() In dry climates. salt-crvstal growth and weathering lead to the formation of
distinctive hollowed-out near the bases of sandstone ehiff

(D) Exfoliation occurs when temperature changes cause ninerals to expand and contract
at different rates

Choose the correct answer from the options given below :
fAAieias 4 ¥ BHA-H1 /3 #9956 2/A 7

(A) TSR @94E, 990 59 31T 9 1 AiiEs Fa |

(B) Wil \19aa #1 A6 A9ET Tial hasl JiH] (6l ) W T9e 7l 7|

() I FEAE ° FE-TEEE gl W S9EE FEEE F 9 & EE F HEY =g e A
1 H STE F R |

D) A9 @9 e 2 R, S AT UNEe R T S W e e w6 g we
i

=

=1

1= Tou 0 TErEed B W W 3 R =9 i

[Question ID = 746][Question Description = 146_80_Geography_0CT22_Q46]
1. (B) only

= (B)

[Option ID = 2981]
2. (A) and (C) only

= (A) =W (0)
[Option ID = 2982]
3. (B) and (D) only
a1 (B) w1 (D)
[Option ID = 2983]
4 (A) only
95 (A)

[Option ID = 2984]

47)  Which of the following are characterized by stratovoleanoes?

(A) Basaltic magma
(B) Involves inter layered strata
(C) Magma 1s gassy and highly viseous

{Iy) hMagma emerges under low pressure

Choose the correct answer from the options given below !



= U2 eE Feftas 8 1 e Ataeem 2

(A)  smEEe g
(B) AT GV WA TEE =l R
(D) T FoEE WS e E
4= fom T e © H WA 39 F 999 F e
[Question ID = 747][Question Description = 147_80_Geography_0CT22_Q47]
1. {A) and (D) only
T (A) 31T (D)
[Option ID = 2985]
2. (B)and (D) only
Fa (B) #7 (D)
[Option ID = 2986]
3. (A)and (C) only
Fae (A) #7(C)
[Option ID = 2987]
4. (Bjand (C) enly
=9+ (B) 31 (0)

[Option ID = 2988]

48)  Twe of the following ocean cuirents are responsible for reducing the temperature of

bordering coastal zones:

(A) Benguela current
(B) Euro=iwo ¢urrent
(C)  Brazil current
(D) Canaries current
(E) Gulf stream

Choose the correct answer from the options given below :
U=l Gzl S91 F AI9AE 1 HE F R e Aeiengd § F 21 HEEriE 9w seer #
(A) S g

~

(B) =@ 4w

(C)  wrEE =

(D)  FAF g

(E) TE=EE

i feu 7w Tawed § | T 39 w999 Fia
[Question ID = 748][Question Description = 148_80_Geography_OCT22_Q48]
1. (A) and (B) only

e (A) 7 (B)

[Option ID = 2989]



2. {A) and (C) only

9w (A) 3 (0)
[Option ID = 2990]
3. {A)and (D) only
F=3e (A) #h (D)
[Option ID = 2991]
4. (D) and (E) onlv
w9 (D) 37 (E)
[Option ID = 2992]

49)  Which two of the following alphabetical symbols represent “the wet tropics’ climate according
to Képpen's climate classification?

(A) BWh
(B) Af
(C) Dfe
(D) Am
(E) Bsh

Choose the correct answer from the options given below :

F19 % AT A F ATHE HeeEngd § H FE H T SIS SaE SO Ao $ USeid s
27

{A) BWh

(B) Af

Q) Dife

(D) Am

{E) BSh

19 fou v fasrea) § & TE 39 F =S8 Fian

[Question ID = 749][Question Description = 149_80_Geography_0CT22_Q49]
1. {A) and (E) only

Fae (A) #{7(E)

[Option ID = 2993]
2. (B)and (D) only

9= (B) 317 (D)

[Option ID = 2994]
3. (B) and (C) only

Fae (B) 91 (C)
[Option ID = 2995]
4. (A) and (C) only
el (A) #T (O)

[Option ID = 2996]



50)

(A) Philozophical arigin
{B)  Avrtistic origin

(C) Instrumental origin

(D) Chemieal origin

Identifv the tvpe of universe origin as discussed in the cosmology of Vedas.

Chooese the correct answer from the options given below :

=71 = FEISH 1§ At wmE 3EE % R # TEE

(A)  EEEE I

(B)  FeTeEE IR

(C) == I

(D)  TEEEF 36

Frr fou 0 faeat B © = S o = i

[Question ID = 750][Question Description = 150_80_Geography_0OCT22_Q50]
1. (A) and (C) only

(A) 31 (C)

[Option ID = 2997]
2. (B) and (D) only

= (B) A7 (D)

[Option ID = 2998]
3. (A).(B) and (C) only

Fae (A). (B) 3 (C)

[Option ID = 2999]
4. (0) and (D) only

9= (C) = (D)

[Option ID = 3000]

51)

(A)
(B)
(C)
(D)
(E}

Carl Ritter

Alexander Von Humboldt
Oszcar Peschel

Varenius

Immanuel Kant

Whieh of the following pairs are correctly matched?

Continentality concepts
Teleological Approach
Das Ausland

Critigue of Pure Reason

General History of Nature of the Heavens

Choose the correct answer from the options given helow :



N i e e e e a7 e o A

(&) e - TR S
(B) TEwEeST 91 A - IETEEE IO

(C) =Tt 95 - TM HEEE

(D) = - TEITE = W A

= fon m fameai & @ o 30 F1 59 A
[Question ID = 751][Question Description = 151_80_Geography_0CT22_Q51]
. (A)and (C) only

Fae (A) 37 (C)
[Option ID = 3001]
2. (B)and (E) only
Fa (B) ¥ (E)
[Option ID = 3002]
3. (D) and (E) only
Faw (D) 1 (E)
[Option ID = 3003]
4. (C) and (E) only
F9 (C) # (E)

[Option ID = 3004]

52)  Which of the following are defining features of positivism?

(A) Metaphysics

(B Empircism

() Normative values

(D) Unification of Scientific laws

Choose the correct answer from the options given helow :

=

TA=ierEs & 5 9] TeatETs Thi [EeTEn 2 ¢

(A)  FeEEEE
(B) AL HTFER
(C) THEHE A

(D) S T F TR

i for o FEed § 9 o 3 @ 99 i

[Question ID = 752][Question Description = 152_80_Geography_0OCT22_Q52]
1. {B) and (D) only

#ae (B) 3 (D)

[Option ID = 3005]



2. {A) and (B) only

T4 (A) F7 (B)

[Option ID = 3006]
3. (A) and (C) only

Fae (A) #T(C)

[Option ID = 3007]
4. (C) and (D) only

#9+ (C) 31 (D)

[Option ID = 3008]

53)  Which of the following oil field/fields of India 1s/are correctly matched?
(A) Assam — Moran — Hugrjan o1l field
(B) Gujrat — Lune;j. Kalol o1l fields

Q) East Coast offshore o1l fields — Olkad, Asjol
(D) West Coast offshore oil fields — Baszszein, Aliabst

Choose the correct answer from the options given below :

FeAfanEs 8 8 51 O 99 F o9 @3/ &0 = 0w w6 2 v

(&) Im - OWH - TR 7 4
(B) W ~ T, A 5 A
(C)  gHl 7z AT A AE ~  HTeFE, FEEE

(D) ulv=di 52 WuEz 99 AR - e, dieEse

4= fon 0 TR ® WA I % =99 A

[Question ID = 753][Question Description = 153_80_Geography_0CT22_Q53]
1. (A) and (B) only

Faet (A) 37 (B)

[Option ID = 3009]
2. (A). (B) and (D) only

g (A). (B) 317 (D)

[Option ID = 3010]
3. (A). (B) and (C) only

Fae (A). (B) 391 (C)
[Option ID = 3011]
4. (€)and (D)aaly
= (C) A7 (D)

[Option ID = 3012]



54)

(A)
(B)
(C)
(D)

What 1s true about the Heartland theory?

It was published thrice in 1904, 1914 and 1943

It was put forward by a German geographer HJ Mackinder
It was based on land versus sea pewer struggle in world History

The predictions of the theory came to be true and Germany became the superpower in

the world

Choose the correct answer from the options given below :

TEATE S AW ° 9= g5 27

(A) T THEEE A AW 1904, 1914 3 1943 F 5@ W

(B) 38 W e v A A 3 ufanes e

(C)  Tova st o 5= -4 9] § ST J9d S5 S o

(D) =5 Tog 1 aias=i 307 55 317 991 E9g = SR e

Hrg Ton 70 TR | | HWA 39 999 FIe

[Question ID = 754][Question Description = 154_80_Geography_OCT22_Q54]
1. (A) only

T (A)

[Option ID = 3013]
2. (A)yand (C) only

e (A) F1(C)

[Option ID = 3014]

3. (C) only

Fa7 (C)

[Option ID = 3015]
4. (C) and (D) only

Faa (C) = (D)

[Option ID = 3016]

55)

£V
(B)
()
(D)
(E)

Wall map

Large scale plan
Topographical map
Atlas map
(Cadestral map

1
1
1
1
1

Which of the following pairs match correctly?

$ 1,950

: 100
250,000
1230

1 3.960

Choose the correct answer from the options given below :



F=ifeEs 3 5 F0 9 TE F e wE A

(A) fuimgEREE - 1:1.980

B FmAmEIEm - 1:100

(C) =uemElE @EEE - 1: 250,000
(D)  vEeH wHE - 1:250

(E)  9- wFma - 1:35.960

= fou 7o faedt 7 8 o8 =0 3 =ae i

[Question ID = 755][Question Description = 155_80_Geography_0CT22_Q55]
1. {A) and (E) only

e (A) 37 (E)

[Option ID = 3017]
2. (A)and (C) only

g (A) #1(C)

[Option ID = 3018]
3. (B).(C) and (E) only

a4 (B). (C) =1 (E)

[Option ID = 3019]
4. (B)and (D) only

== (B) 7 (D)

[Option ID = 3020]

56)  Which of the following statement 1s not correct?
(A) More than one-half of the global population reside in areas below 200 meteres and
above mean sea level
(B) More than 50% of the glohal population lives on 25% of the land surface
(C) 80%; of the global population reside in the northern hemisphere
(D) The margins of continents are highly populated than interiors
Choose the correct answer from the options given below :
F=tahEs O 9 %5 W % TE R e

(A)  Afvs SAEE w Y A AlGF e SiEE 5Y5 79 6 S 200 W 5 46" w

(B)  Afva# sEwE 1 50 WAYE W -HaE % 15 U9 90 9 A A
(C) i FaE F1 90 viaws e 39 e § e

(D) W_F'@:Fﬁ?ﬁ{—-ﬂiﬁw SAF AR e T sl Saaeg] 7= =
9 fon o ST B 9 EE I 999 R

[Question ID = 756][Question Description = 156_80_Geography_0OCT22_Q56]
1. (CJ DII.].}"

Fa7 (C)



[Option ID = 3021]
2. (B) only
== (B)
[Option ID = 3022]
3. (D) enly
Fa= (D)
[Option ID = 3023]
4. (A) only
Fae (A)

[Option ID = 3024]

57)  YWhich of the following statements are incorrect about Weber's theory of Industrial Location?

(A) To determune where the location of mmdustry he. Weber calculated the ratio between
the weight of localised meteral and the weight of the product

(B) He dezigniated this as the Materal Index

() If the index is less than one (1) the location 1= oriented towards the consumption
centre

(D) If the index is more than one (1), the location iz material - oriented

(E) If the index 1= more than one (1), the Iocation iz orlented towards the consumption
centre

Choose the correct answer from the options given below :

TreteEtEs O 5 w9 O w4 99 ® ST s EgE S 8 aeE 27

(A) T A FEE F FE WA =9 F AW 4 i e F 6 s me % o s sem F
A AATA T U A o

(B) =T THH W] gEE F =9 © HRE

(C) =i et U (1) %9 2, @ 3G 3990 $5 39l 26 2

(D) =g FeeRrs TF (1) F whE 3, W et wwet - S we e

(E)  =fc g=dis % (1) @ sfes 2, @1 safets saum 5 3l = 7

4= 2o o e ¥ W wE I H =g i

[Question ID = 757][Question Description = 157_80_Geography_0OCT22_Q57]
1. (B) and (E) only

#ad (B) 2117 (E)

[Option ID = 3025]
2. (C)and (E) only

Fae (C) #0 (E)
[Option ID = 3026]
3. (D) and (E) only
g (D) 317 (E)

[Option ID = 3027]



4.

(E) only

7= (E)

[Option ID = 3028]

58)

Which of the following are methods of linear contrast image enhancement?

(&) Minimum — maximum stretch
(B} Histogram egualisation

(0 Density shicing

(D)  Histogram normalization

(E) Saturation stretch

Choose the correct answer from the options given below :

= @ == o feEr @ fauEm miaee Haig F et = -

(A) —HaH a7t oA (et - b - ?:-j:ﬂ
(B) AT oo (FEmm s

(C)  oeea T (ST == s

(D) A wE=E (= e )

® wge-f (gen 2e)

= fom e Tt © 5w I 59 i

[Question ID = 758][Question Description = 158_80_Geography_0CT22_Q58]

1.

2.

3.

4.

(A) and (B) only

*ge (A) 3 (B)

[Option ID = 3029]

(A) and (C) only

FaE (A) 7 ()

[Option ID = 3030]

{B) and (D) only

Fa= (B) =17 (D)

[Option ID = 3031]

(A) and (E) only

Fa (A) 310 (E)

[Option ID = 3032]



59)

(A)
(B)
(C)
(D)
(E)

Identify two Swedish =chelars who contributed 1n the field of climatology

(4)
(B)
(C)
(D)
(E)

Grabriel Daniel Fahrenheit
Anders Celsius

Vilhelm Bjerknes

Tor Bergeron

Gaspard Gustav Coriolis

Choose the correct answer from the options given below :

G T

41 o T Tl B H TA I 9 =AT e

[Question ID = 759][Question Description = 159_80_Geography_0OCT22_Q59]
1. {A) and (E) only

FaE (A) 77 (E)

[Option ID = 3033]
2. (B)and (C) only

F494 (B) 37 (C)

[Option ID = 3034]
3. (B) and (D) only

*a+ (B) #i (D)

[Option ID = 3035]
4. (B) and (E) only

F== (B) 310 (E)

[Option ID = 3036]

60)

Match Tast T with Tase I :

(A)
(B)
{C)
(D)

List 1 List IT
Name of soil Area
Calcareous elavey soil (I) Chotanagpur highlands
Red loamy zo1l (I} Mid-altitudinal zones of Himalava
Podzolic soil (IIT) Desert soil

Soil with low organic matter. low (IV) Khadar
nitrogen and other plant nutrients

Choose the correct answer from the options given below:



T I =g gt 11 = Taerm Fif

I I
e 1 GES
(A) =R givEm g @ B AT =T
(B) =T A gW (L) TeAmr 1 9539-37 T
Q) w=i= () 5o (IIT) ==+ T

Dy = FHbE ag@, = 9z dn s= (V) =@
1 Tou o et B W TWE I T e i
[Question ID = 760][Question Description = 160_80_Geography_0OCT22_Q60]
1. (ARIV). (B)-I). (C)-(II). (D)-(IIT)

[Option ID = 3037]
2. (A)(IV). (B)-(IT). (C)-(I). (D)(IIL)

[Option ID = 3038]
3. (AIVY. (B)-(ID. (CY(IID. (DH-(D)

[Option ID = 3039]
4 (AID. (B)-D). (C)-(IV), (DY-(I1IL)

[Option ID = 3040]

61) Match List T with List IT

List I List I
Scholar Conecept / Term / Contribution
(A) Gaylord Nelzson {I' Ecology
(B) A.E.Douglas (II) Eecological Niche
{C) Charles Elton (IIT) Earth day
(DY  Ernst Haeckel (IV) Dendrochronology

Choose the correct answer from the options given below:

= 1 % @ gt 11 = faem i
I LI
T SR TE /AT
(A) TS FEEA (I et e
(B) TU. I T=E (II) -ttt o
(C) =T uEA (I 9%h fe=m
(D) TR FE AV) FH FEATHEAT

9 fav T foFear § 1 o 39 F =E Fien
[Question ID = 761][Question Description = 161_80_Geography_0OCT22_Q61]
T (A D), (B)-(IIL), (C)-(IV). (D)-(ID)

[Option ID = 3041]
2. (A)IID), (B)-(IV), (C)~(IL), (D)-(D)

[Option ID = 3042]
3. (A, (BT, (C)-(T). (D)-(IV)



[Option ID = 3043]
4. (A)(IV). (Bi-(D). (CYA(IIT), (D)-(IT)

[Option ID = 3044]

62) Natch List T with List 1T
List I
TIron and Steel Plants
(a) TISCO. Jamshedpur
(B)y VISL, Bhadravati
(Cy HSL, Bhila:
(D}  BSL. Bokaro
=1 15 79 7= I = f5ems e
=1
(4) TISCO - 79T
(B) VISL - wEd
(C) HSL, 9=z
(D) BSL, ar#ml

List II
Source of Iron ore
(Ii  EKemmangundi mines
(I} Noamundi. Gurumahisani mines
(III) Kiriburn mines
(IV) Dalli-Rajhara range

Choose the correct answer from the options given below:

I
() FAE =

(I0) =1, TR =
(ITT) Tt @mm

(IV) =ei-Tra=a 19 (v%H)

il BRI i | fe== 2 i e e 0 2 e - L

[Question ID = 762][Question Description = 162_80_Geography_0CT22_Q62]

T (A)ID, (B)-(IT). (C)=(IV), (D)-(D)

[Option ID = 3045]

2. (A)y(D. (B, (C)-(IV). (D)-(ID)

[Option ID = 3046]

30 (AT, (B)AI). (C)-(IV). (ID)-(I1T)

[Option ID = 3047]
4 (AR, (B)-IV). (C)1-(ID). (D)-(III}

[Option ID = 3048]

63)

Match List Twith TLast IT ;

Minerals/Power resources

(A)
(B)
(C)
(D)

Tast I

Manganese
Copper
Bauxite
Coal

Tast IT
Nanie of mines
(I Dungarpur. Malanjkhand
(Il Balaghat. Chhindwada
(III) North Karnpur. Jhilmih
(IV) Bolangir. Udgeri

Chaoose the correct answer from the options given below:



Tl 1 % =% o= T = fem Fre

=11 HIL
= /= T = F A
(A) () T, TEaEs
(B) e (I) ==, oA
(C) =fommsz () =7 F9ige, femteedi
(D) FEe (IV) =e=ET, 3501

Hr= for m fawen § | o 3 9 =|e Fie

[Question ID = 763][Question Description = 163_80_Geography_0OCT22_Q63]
T (A)(ID). B-D), (C)-(IV). (D)-(IIT)

[Option ID = 3049]
2. (AT, (B)-(I). (C)-(IIT). (D)-(TV)

[Option ID = 3050]
30 (AT (B)-(ID). (C)-(IV). (D)-(ITT)

[Option ID = 3051]
4. (AV(III), (B)-(I). (Cy-(IV). (D)-(IT)

[Option ID = 3052]

64)  Natch List I with List 11 :

Tast 1 List IT
Places of Earthquakes Tectonic Environment
(A) Bam (Iran) (1) Subduction zone
(B) Mexico city (Il Transform boundaries
(C) San Francizco (IITy Under sea subduction
Dy Java (IV) Blind faults

Choose the correct answer from the options given below:

=1 I % g g1 1L %1 9T Hirar

71 7111
T T {EEzice R cru
(&) =W (FF) (I) & 5eet
(B) HfFw T (IT) = ==
(C) # wiE=h (ITT) 377 =TT Zum
(D) =T (IV) 379 w1

45 for 7 e § 7 wE 3 W == Hiae

[Question ID = 764][Question Description = 164_80_Geography_0CT22_Q64]
T (A)-IV). (B)-T), (C)-(TII), (D)«(ID)

[Option ID = 3053]
2. (AIVY. (B)T). (C)-(II), (D)~(IIT)

[Option ID = 3054]
300 (A (B)-iIV). (C)~(ID), (D)-(1ID)

[Option ID = 3055]



4 (Ar@. BIIV). (C)-IID, (D)D)

[Option ID = 3056]

65)  Match List I with List I :

(A)
(B)
(C)
(D)

List T
Wind Type
Bores
Eurus
Notus

Zephyrus

Last II
Wind Charactenstics
(I) Warm and gentle
(IT) Advanecing storm
(ITI} Strong and cool with clear skies
(IV) Dreaded and balmy

Choose the correct answer from the options given helow:

o= I @i =t I3 e it .
T T 11
(A) =mA () =91 1w
B) FH (II) Wl TFE
(C) #w=a (II1) T9He HRT = T ] S 220
(D) FwEE (IV) Tersfiess it e
4= fon 7o EEeal § | HE I F =99 I

[Question ID = 765][Question Description = 165_80_Geography_0OCT22_Q65]
T (A, (B)-(I). (O)-(IID). (D)~(IV)

[Option ID = 3057]
2. (AIID. (B)-(D. (C)-(ID). (D)-(TV)

[Option ID = 3058]
3. {A)IV). (BY«(ID), (C)(D). (D)-(IID)

[Option ID = 3059]
4. (Al (Bi-(IV), (C)-(ID). (D)-(IIT)

[Option ID = 3060]

66) Match List T with List IT -

List I List I
Name of the Scholar Principle / Law / Model
{A) Sadler (I}  Net imipact of population growth on economy
(B) Ricardo (II}) Intervening opportunity model
{C) Thompson (ITI) Fertility varies inversely with density
(D) Stouffer (IV) Demographic Transition moedel

Choose the correct answer from the options given below:



=1 I = 519 gt 11 %1 foerm i

I I
AT A Forgsre /v e
&) #=w (D) seeaaeen & 9 91 F1 9 T
®B) frrsi (II)  wemad s wisa
(C) «rgEs (IIT) "4 o7 997 & W9 TiaerEa: e =6 2
D) =rE (IV) el ST Sieet

419 fou T EFAT § © oA I F 95 Hi
[Question ID = 766][Question Description = 166_80_Geography_OCT22_Q66]
T (AT (B)-(ID). (C)-(III). (Dj-(IV)

[Option ID = 3061]
2. (A)-(ID. (B)-{IID), (C)-(V). (D)D)

[Option ID = 3062]
3. (AYLIID), (B)-(T), (C)-(IV). (D)-(ID)

[Option ID = 3063]
4 (A)(IV). (B)-ID). (Ci-(T), (D)-(IID)

[Option ID = 3064]

67)  Match List I with List II -

List I ListIT
(&) Von Thunen (I}  Central Place Theory
{(B) August Losch (IT) Agrcultural Location
() Dot (IIT) Theory of Industrial Location
(D) Christaller (IV) Crop combination

Choose the correct answer from the options given belaw:

=1 1% @7 gt I =1 faem iAo

T I
(A) TH g Iy =HpE v g
(B) =Fwm 9 (ID  Ffs s=faia
(Cy sig (IIT) siranes w=EE g
(D) T (IV) FEe ST

9 feu v Tawear § & =9 97 1 =999 Firaw

[Question ID = 767][Question Description = 167_80_Geography_0OCT22_Q67]
T (AID. (B)-+(TV). (Ci<III), (Dy-iT)

[Option ID = 3065]
2. (A)TIT). (BT, (C)-(IV). (D)-(IID)

[Option ID = 3066]
3. (A, (B)-(II). (C)-(IV). (D)-(Dy

[Option ID = 3067]
4. (AD. (B)-(ID). (C)-(IID. (D)-(IV)

[Option ID = 3068]



68) Npateh List Twith Tist10:

List I Tist IT

Transport N e-i'wcrrk_ L-Ieasul'es Definition

and Connectivity

(A) Eta Index (Ii  Measures the level of connectivity in a graph and 1s
expressed by the relationship between the number
of links over the number of nodes

(B) Theta Index (IT) Average length per link
() Beta Index (ITI} Average amount of trafffic per intersection
(D) Alpha Index (IV) It evaluates the number of cvcles In a graph In

comparison with the maximum number of cyeles

Choose the correct answer from the options given below:

EiB -1
qe 4
(A) =TT (I) 9% TF UIF ° TR F = R AN 7 AW s #
(B) i gEEE () == Tor =1 AEn =
(C) e g (IIT) w=rF SR W JEmEe A ArEd o
(D) =& gIHF (IV) == =ifuswan =& = @= fi g9 0 W 0 A

Hi= fou v e | O mE I S 99 S
[Question ID = 768][Question Description = 168_80_Geography_0CT22_Q68]
T (AID), (B)-(I). (C)-(III). (D)-(IV)

[Option ID = 3069]
2. (A)(ID), (B)-(IV). (C)~(IIL). (D)~(I)

[Option ID = 3070]
30 (AL, (B)-(IIL), (C)-AV). (D)-(I)

[Option ID = 3071]
4 (A)-ID). (B)-(IID). (C)-(T). (D)-(IV)

[Option ID = 3072]

69)  Match List T with List IT ;
Tast I List IT
Thematic Maps Data Type represented: Example
(A) Quahtative (I} Interval and Ratio Data: Chropleth maps
(B) Semi-Guantitative (ITy  Virtual maps generated digitally using computers:
Landform miaps
(C) Quantitative (IIT) Nominal Data: Chorochromatic maps
(D) Special (IV) Symbolization/Ordinal data: choroschematic map

Choose the correct answer from the options given below:



w1 I % @ gt 11 = e =i

-1 Tei-IT
T AT T AR TEW, I
(A) TS (I) oAt #1396, T A
(B) #HZ-9EFED (I)  FPegzr 1 SEN FF (sa2e 7iF o =540
(C) wEFEF (II) =% ATFE, FHEHE '
(D) Taem (IV) TR = AS, JUddrl A

[Question ID = 769][Question Description = 169_80_Geography_0CT22_Q69]
T (A)IID. (B)-(D). (C)-(II). (D)-(IV)

[Option ID = 3073]
2. (A)-(IID), (B)-(IV), (C)-(IT), (D)-(I)

[Option ID = 3074]
3. (A)AIID. (B1-(IV). (CH-(D), (D)-(ID)

[Option ID = 3075]
4. (AL, (B)-(ID), (C)-(IV). (D)(I)

[Option ID = 3076]

70)  Nfatch List T with List I -

List I List IT
Scale system Data type measured
(A) Nominal ([}  Altitude from mean sea level
(Bl Ordinal (II) Soil type
() Interval (IIT} Monthly income {in Rs.)
D) Ratio (TV) Town size

Choose the correct answer from the options given below:

== 1% =9 51 11 1 oo i

EEIS! T=f1-I1
ENIE e () =1s3 o o o g
(B) FHGTF () 351 e
(C) = (ITT) =1f=F A (=0 °)
(D) FEATH (IV) 37%% =1 TN
= oo e T # & TE S = i

[Question ID = 770][Question Description = 170_80_Geography_0CT22_Q70]
1. (A)«IT). (B)-(IV). (C)-{D), (D)-(IID)
[Option ID = 3077]
2. (AT, (B)-(IT). (C)-(T). (D)-(IV)
[Option ID = 3078]
3. (A)(IID). (B)-(IV). (C)-(T). (D)~(IT)



[Option ID = 3079]
4 (AL, (B)-IID). (C)-(I). (D)-(IV)

[Option ID = 3080]

71)

Arrange top five wheat producing states of India (in 2020-21) in descending order.

(A)
(B)
Q)
(D)
(E)

Uttar Pradesh
Haryana
Rajasthan
Punjab

Madhya Pradesh

Choose the correct answer from the options given helow :

A (2020-21 §) 7E % A T 9 701 F SHE #4685 oEteE Fi

(A
iB)
(C)
(D)
(E)

T TS
Eeiu

4= fon o TEeT § | 99 I o999 S

[Question ID = 771][Question Description = 171_80_Geography_0CT22_Q71]
1. (A). (D). (B), (E). (C)

[Option ID = 3081]
2. (A), (D). (E). (B). (C)

[Option ID = 3082]
3.0 (AL (E)n (B (D). (D)

[Option ID = 3083]
4. (D). (A) (B). (E). (D)

[Option ID = 3084]

72)

Proper sequence of Wilson cvele is:

(&)
(B)
(C)
(D)
(E)

Continental rupture and formation of wide ocean basin with passive marging
Formation of Island arcs and arc-continent orogen

Oceanic lithosphere firactures and new subduction boundaries take shape
Plate reverse their motion, and the ocean basin begins to close

Formation of continental suture

Choose the carrect answer from the options given belaw :



R aE w I R -

(A)
(B)
(C)
(D)
(E)

=i FE FEn B A S SR S g 2 o 2 |

TETGIE Hiw (=) = A

E 1 el e e (e e £ e e 0 o B

[Question ID = 772][Question Description = 172_80_Geography_0CT22_Q72]
(A), (O), (D), (B), (E)

1.

2.

3.

4.

[Option ID = 3085]
(A, (D). (C). (By (E)

[Option ID = 3086]
(A), (D) (T A(E) (B)

[Option ID = 3087]
(A). (€). (E). (D). (B)

[Option ID = 3088]

73)

Avrange the following in the correct sequence of detritus food chain described by Odum
(1970) bazed on mangrove leaves :

(4) Detritus

(B) Small Fish

{C) Mangrove leaves

(D) Large Fich

(E) Crabs and Shrimps

Choose the correct answer from the options given below :

Har w1 Ot Arar, @9 (1970) gET 9E S9E W gEer B FA S § saaean Fian

(&)
(B)
(@
(D)
(E)

T
EE e
FHel () 3 s (Te)

Hr= for 0 fmwew & 9 oE T 9 999 i

[Question ID = 773][Question Description = 173_80_Geography_0CT22_Q73]
(C). (B, (A), (E). (D)

1.

2.

3.

4.

[Option ID = 3089]
(Ch1 (E) (Bl (A (D)

[Option ID = 3090]
(CLAE). (&), (B). (D)

[Option ID = 3091]
(C). (A). (E) (B (I)

[Option ID = 3092]



74)  Ayrange the following trace gases in correct sequence of their concentration in atmosphere in

descending order:

(A) Methane

(B) EKrypton
(C) Helium
(D) Neon

(E) Hydrogen

Cheose the correct answer from the options given helow :

FTelET GEE TE H aEEsE § S 5] FOSHAT A F6 F 9EEE 8 st i
&) TR

(B) TH=H

(C)  Fiferw

D) F=

(E) #wEseH

E i B U B e et = e i s T 1 e o | = L
[Question ID = 774][Question Description = 174_80_Geography_0CT22_Q74]
1. {E). (B). (D). (A). (C)

[Option ID = 3093]
2. (D). (B (E). (A) (O

[Option ID = 3094]

3. (D). (C). (A). (B). (E)
[Option ID = 3095]

4 (D), (E). (B, (A), ()

[Option ID = 3096]

75)  Ayrange the following éontinents of the world in descending order on the basis of current

population density (persons per km?) :

(A) Asia

(B) North America
(C) Africa

(D) Europe

Choose the correct answer from the options ziven helow :

[A7d % FEENEa SRR F AA9E S F 9Ae (S0Fa UiE @ET ) F AT T AEE #4488
=t Firam

i

(A)  TEE

By = FEEE

(C) =i
D) T
H11 fou 0 Tamedl 8 © 2] =5 1 =599 Fifa0 ¢

[Question ID = 775][Question Description = 175_80_Geography_0OCT22_Q75]



T (0). (B) (A). (D)

#=3e1 (C). (B). (A) #1T (D)

[Option ID = 3097]
2. (A (D). (D) (B

== (A). (C). (D) #F1 (B)

[Option ID = 3098]
3. (B (A), (C). (D)

Fae (B). (A), (C) #1 (D)

[Option ID = 3099]
4. (D), (A (B). (C)

#ad (D). (A), (B) 317 (T)

[Option ID = 3100]

76) (@iven below are two statements: one is labeled as Assertion A and the other is labeled as

Reason R

Assertion (A):  In terrestrial ecosystems (grassland. forests) the pyramud of biomass iz
upright with broad base

Reaszons (R) : In terrestial ecosvstems the bhliomass Increases from primary to tertiary

COMBUNIers

In the hight of the above statements. choose the most appropriate answer from the options
given below

A= @ e fow o #: wF wfeeE (Assertion A) % w9 # fefa 2, A1 7890 39 F00 (Reason R)
= T
wqFeE (A):  TTi4E Wi (9EEE, 99) § 9 9E0EE 1 9iEs 913 30EW § S @ =6 2

F (R) : Wit Wi § aEmE i WATRF W ghEE saame ¥ 9ig w6l 2

TR HEA SR H, 99 5 e § | e 9T I A =9 S
[Question ID = 776][Question Description = 176_80_Geography_0OCT22_Q76]
1. Both (A) and (R) are correct and R is the correct explanation of A
(A) 3 (Ry =1 &A1 3 31 (R). (A) =1 w71 =men 7

[Option ID = 3101]
2. Both (A) and (R) are éorrect but R is NOT the correct explanation of A

(A) 31 (R) 7/ @4 2, =10 (R), (A) F1 57 = 79 2

[Option ID = 3102]
3. (A) 1= correct but (R) 1= not correct

(A) 71 & =15 (R) 971 941 &

[Option ID = 3103]
4. (A) 1= not correct but (R) 1= correct

(A) w71 77 & = (R) 591 7



[Option ID = 3104]

77)

Given helow are two statements: one is labeled as Assertion A and the other 13 laheled as
Reason R

Assertion (A):  Durnng an equinox the length of daylight 1z 12 hours evervwhere on Earth

Reasonz (R) : On equinox the circle of llumination passes directly through the poles
dividing the latitudes in half

In the light of the above statements, chooze the most appropriate answer from the options
given below

= = FE [GUOTT B Us HIWFAE (Assertion A) % =9 9 [WREa 7, A T FH% F0 (Reason R) &
=g H:

AFAT (A) ;g sl | wEE g § o e 12 92 A

F101 (R) : 93 7 wEiH g9 Jie g9 ® SR -0R TSRl 5T S 5 A A i w7
ITE FA F AR A, 99 w0 W EEel 8 A #ed 39 S R =9 A

[Question ID = 777][Question Description = 177_80_Geography_0CT22_Q77]

1.

Both (A) and (R) are correct and R 1s the correct explanation of A

(A) ¥ (R) =1 571 & 301 (R), (A) =i 71 = 7

[Option ID = 3105]
2. Both (A) and (R) are correct but R 1s NOT the correct explanation of A

(A) #H (R) =1 &7t 7, =i (R). (A) %1 971 =gms 76 7

[Option ID = 3106]

3.

{A) 1s correct but (R) 1 not correct

(A) =91 =9 (R) 781 751 &

[Option ID = 3107]

4.

{A) 18 not correct but (R) 1s correct

(A) T 73] 7 oA (R) 981 2

[Option ID = 3108]

78)

Given below are two statements: one 1= labeled as Assertion A and the other is labeled as
Reason R

Assertion (A):  Any lack of water to =zatisfy the normal needs of agriculture. hvestock.
industrv or human population mav be termed as a drought
Reasons (R) : Drought 1s a distress situation caused by lack of rainfall

In the light of the above statements, choose the most appropriate answer from the opfions
given below:



4= 71 %9 5w #: v #9FYH (Assertion A) F =9 A [@HEd & A il 39F FWW (Reason R) #

= H;
FF (R) : T, T F FHE U 3 O s 20 |
I A F A E, A= T e § A 5 I 5 R =99 i

[Question ID = 778][Question Description = 178_80_Geography_0CT22_Q78]

1.

Both (A) and (R) are correct and R 1= the correct explanation of A

(A) 51 (R) 21 53 # A7 (R). (A) F1 5781 =mem 2

[Option ID = 3109]
2. Both (A) and (R) are correet but R 12 NOT the correct explanation of A

(A) & (R) 591 97 3, #fHT (R). (A) i 55 =men 74 2

[Option ID = 3110]
3. {A)1s correct but (R) is not correct

(AyT= # @A (R) 999 79 =

[Option ID = 3111]

(A) 1= not corrvect but (R) is correct

(A) F9e7 99 & T (R &= 2

[Option ID = 3112]

4.
79)

{A)

(B)

(C)

(D)

(E)

Which of the fo]]owing are cumulative atmospheric disasters?

Tornado dizaster
Flood disaster
Tsunami disaster
Heat wave disaster
Landshde disaster

Choose the correct answer from the options given below :

FEAleATEs B W A o HeE arEvsEE A 7 7

(A)  ZEE S

(B) =g HMGE

(C)  =md wEr

(D) 399 v 3HEl

4= fon o e A W HE I T i

[Question ID = 779][Question Description = 179_80_Geography_0OCT22_Q79]
1. (A) and (B) only

Fae (A) AT (B)

[Option ID = 3113]



2.

3.

4.

(B) and (C) only

F== (B) ##0 (C)

[Option ID = 3114]

(A). (B) and (D) only

Fae (A), (B) =7 (D)

[Option ID = 3115]

(B) and (E) only

Fa4 (B) 97 (E)

[Option ID = 3116]

80)

Which of the fo]]ow'ln.g is correct about the Raster data model in GIS?

(A)
(B)
(C)
(I
(E)

Raster data model 15 a simple data structure

All pixels are of same size and shape

Smaller file size

Raster data model 1s compatible with remote sensing 1mageries

Difficult overlay operations

Choose the correct answer from the options given below :

FefalEs B % #F 9T IEE 7 F TR Hee F A HOEA 7

=)
(B)
(@)
(D)
(E)

FIITE PR (AT HEHE ) Hiad w5 R

1= Tou U fFe T ¥ o W 39 W =94 e

[Question ID = 780][Question Description = 180_80_Geography_0CT22_Q80]

1.

2.

3.

4.

(A). (B) and (D) only

Fa9 (A). (B) ¥R (D)

[Option ID = 3117]

(A) and (C) only

F5e (A) F(C)

[Option ID = 3118]

(C) and (E) only

Fae (C) A7 (E)

[Option ID = 3119]

(A). (B) and (E) only

#a7 (A), (B) 3 (E)

[Option ID = 3120]



81)  Which of the following statements are true?

(A) Acountry achieves replacement level of fertility when 1t attains a Total Fertility Rate
of 2.1

(B) Fecundity refers to the capaeity of women to hear children

(i) According to Malthus. war is a preventive check

(I Crude death rate refers to the number of deaths per 1000 nud year population

Choose the correct answer from the options given below :
T=1Ta | A %1 # FEE w27

(A v T T S T oEE w21 F TR UE" WA A, O 9% WS F AT T H 9

AT 2

(B) THAR HEAl T OACE Sieensl g = #1999 5 H1 a9 4 2

(C)  |reaE o AT 5 UF HaEE [ 7

(D) TG e T A U FA HOT AN ST 5 I S S ¥ S
Bl L o = e i R e 7 - e e | L

[Question ID = 781][Question Description = 181_80_Geography_0OCT22_Q81]
1. (A), (C) and (D) only

Fae (A), (C) 31 (D)

[Option ID = 3121]
2. (B)and (C) only

57 (B) 417 (C)

[Option ID = 3122]
3. (Al (B) and (C) only

=9 (A). (B) 31 (C)

[Option ID = 3123]
4. (B). (D) and (A) only

Fa5 (B), (D) =17 (A)

[Option ID = 3124]

82) Arrange the following left bank tributaries of The Ganga from west to east

{A) Ram Ganga

(B) Gomti
() Gandalk
(D) Ghaghra

Choose the correct answer from the options given below :



TN il BEEE A F A AT RGeS | O w0 s i

(&) T
(B) AT
(Cy =%
D =T

49 fan T fEEeT 5 O 18 I F =59 e
[Question ID = 782][Question Description = 182_80_Geography_0CT22_Q82]
1. (B (D). (€) and (A) only
a9 (B). (D). (C) #7 (4)

[Option ID = 3125]
2. (A). (C). (D) and (B) only

Fa4 (A). (0). (D) @1 (B)
[Option ID = 3126]
3. (A), (B). (D) and (C) only
=== (A), (B), (D) #1 (C)

[Option ID = 3127]
4. (A), (C). {B) and (D) only

T34 (A) (C). (B) = (D)

[Option ID = 3128]

83)  Which of the following statements 1s/are correct?

(A) The BOD (Biological Oxygen Demand) of sewage water 1s very high

(B) The aerchic organisms rapidly increase in sewage water due to low content of
dissolved oxygen

(D Ecology 1= the study of interrelationship between the orgamisms and their physical
environment

(D) Parasites are those orgamsmes, which do not depend on other living organizsms faor
their food

Choose the correct answer from the options given below :

AR 5 W R W Y w2 T

(A) T A o S (S st T S5 ated w2

(B) TS B et SESE o WET S=E F % F00 Gese | AEeE AE] S w9 § a9 6 9ig
it 2

(C)  iFEatash e S| 33 39 HIEE TEE A Y I #1959

1 U 8 B e B R s D 7 e e 71 e

[Question ID = 783][Question Description = 183_80_Geography_0OCT22_Q83]
1. {A) only

Fae (A)



2.

3.

4.

[Option ID = 3129]
(C) only

a9 (C)

[Option ID = 3130]
(A) and (C) only

T (A) #T(C)

[Option ID = 3131]
(B) and (D) only

Fae (B) #1 (D)

[Option ID = 3132]

84)  Agcording to Census of India. 2011 which arve the top thrée states in descending order with the
largest size of Scheduled Tribe (ST) population?
(A) Madhya Pradesh. Odisha, Maharashtra
(B) Madhva Pradesh. Mahavashtra. Odisha
(C) Madhva Pradesh. Odisha, Rajasthan
(D)  Madhya Pradesh. Rajasthan. Odisha
Choose the correct answer from the options given below :

T 1 WA &9 3] 27

(A)
(B)
(C)
(D}

e eI, WEEE , AT

50 U T § H HA I R =9 i

[Question ID = 784][Question Description = 184_80_Geography_0OCT22_Q84]
{A) only

1.

2.

3.

4.

A (A)

[Option ID = 3133]
(B) only

ae (B)

[Option ID = 3134]
(C) only

Fae (C)

[Option ID = 3135]
(D) only

Fa= (D)

[Option ID = 3136]



85)  \Which of the following statements-are True?

(A) Estimates for Life expectancy can be obtained from Life table
(B) Improvement in Life expectancy is one of the causes of population ageing

(@) Infant _-I\-Iortalitr Rate 1= defined as the number of deaths of children below one vear
per 1000 mid vear population

(D)  Malthus proposed demographic tranzition theory

Choose the correct answer from the options given below :
TrATelEs 0 3 FH 3 F2F 561 87
(&) S TN B AFEA 9T a3 0 A w

(B) T TN O GUR 93 A F OF FA0 2

(Cy o geg wx iy vy 99 % =9 H v 94 H Y 9 F U 1000 =1 9 vF 99 7 w9
geg & =9 F A1 A A

(D)  He9T o ST TEA0 HEIE ) TEETE R 9
A= Tou v el | WEl I S SEA FE
[Question ID = 785][Question Description = 185_80_Geography_0OCT22_Q85]
1. (A) and (B) only
F= (A) #R (B)
[Option ID = 3137]
2. (C)
F75 (C)
[Option ID = 3138]
3. (C) and (D) only

e (C), 31 (D)
[Option ID = 3139]

4. (A), (B) and (C) only
e (A). (B) 1 (C)

[Option ID = 3140]

86)  Which of the following countries have adopted pro-natal population policy?

(A) 811 Lanka
{B) Spain

{C) Malaysia
(D) Myanmar

{E) Japan

Choose the correct answer from the options given below :



- . T - - - r - i ras
TAEETET 3 3 16 5831 9 9491 9E 3545 S-14qE&] -'-iliﬂ FIHE 77

(A e
B TH
(C)  w=FEm
(D) =
(E) AT

a1 Tau o fameat @ 9 wE A T =T A
[Question ID = 786][Question Description = 186_80_Geography_0OCT22_Q86]
1. (A) only

Fae (A)
[Option ID = 3141]

2. (A).(C) and (D) only
Fa+ (A), (C) #1T (D)
[Option ID = 3142]

3. (C). (D) and (E) only
e (C), (D) 3117 (E)
[Option ID = 3143]

4. (C)and (E) only
T4+ (C) 7 (E)

[Option ID = 3144]

87)  Niche Market tour operators have inereased in number to satisfv specialist holidav. which

ncludes :

(A Theme Parks
(B) Cruse
(C) Sports tourism

(D) Family Gathering tourism

Choose the correct answer from the options given below !
T s=wm #1 9fF 79 AR AW TEe TEwerR (7@ W) 1 Wen ¥ semel 5s 2. SO
{A) = urk
(By #FA

(©) =
(D)  9Fs g9EE T
BT A o e oy e e e pe e e O g

[Question ID = 787][Question Description = 187_80_Geography_0CT22_Q87]
1. (A), (B) and (C) only

a4 (A). (B) 7 (0)



2.

3.

4.

[Option ID = 3145]

{A), (B} and (D) only

FA4 (A). (B) 37 (D)

[Option ID = 3146]

(A). (C) and (D) only

F= (A). (C) #7 (D)

[Option ID = 3147]

Fa=1 (D)

(D) only

[Option ID = 3148]

88)

In the expansion of tourism industry, which events played a significant role In a
chronoelogical order

(A)
(B)
(C)

(D)

Advent of wheel
End of World War IT

Thomas Cook arranged the first package tour between Leicester and Loughborough in
UE

Uszage of Jet planes for movement of passengers

Choose the correct answer from the options given below :

fava # v T o T § 5 H S92 | G g HATE | S ees e SEE W AT
T(ET =1 AT

i;"ar'-i. ™= rIELle!l__%‘,F' Eaer

(A)
(B)
(<
D)

A FF A 4., F A S0 AR F 55T WHH TR (FEieA) 7 6 saae fi

ey T oo Faepedt % & W 55w wE I

[Question ID = 788][Question Description = 188_80_Geography_0OCT22_Q88]

1.

2.

3.

4.

(A). (Ch, (B) and (D) only

F3e (A). (C). (B) =17 (D)

[Option ID = 3149]

(A). (B). (C) and (D) only

=5 (A), (B). (C) =1 (D)

[Option ID = 3150]

(A). (D). (B) and (C) only

3= (A). (D). (B) &1 (C)

[Option ID = 3151]

(A), (D), (C) and (B) only

T3 (A), (D). (C) ¥R (B)

[Option ID = 3152]



89) Given below are two statements:

Statement I: Shafi calculated agricultural productivity through ranking co-efficient
method 1n the vear 1890

Statemet I : Agrieultural productivity as an Input-output ratio was calculated by
Ehusyo in the yvear 1964,

In the hight of the above statements. choose the correct answer from the options given below

4 51 ®9e fu T #;

e 1 ol = 1090 § F9 IEEHAT F B HAE T0E 60T H giekie e |
Fo 10 : T4 1964 T mET A HEO-TFE A9 T H SR H Guse
B s Tihe o e = o =T 1 et L o = == =1 s e e O e 31

[Question ID = 789][Question Description = 189_80_Geography_0OCT22_Q89]

1. Both Statement I and Statement IT are true

o I 3 I 51 5ea 7
[Option ID = 3153]
2.  PBoth Statement I and Statement IT are false
Fea I W I o a5 2
[Option ID = 3154]
3. Btatement I is true bui Statement II is falze
o 1 oea 7, =i 5 I 99 2

[Option ID = 3155]
4. Btatement Iis false but Statement I is true

FoH 1 39 2, #fa 94 [T a4 2

[Option ID = 3156]

90) Given below are two statements:

Statement I ; Digital Elevation Model (DEM) 1= a raster format

Btatemet IT ; All pixels are of different shape and size in DEM
In the light of the above statements. choose the correct answer from the options given below

e I sfeet s=am "ize (S1.3.99. ) U = T 7
o 10 Sisom. © oW e (99 w9Ee) Som-31er 9 A ST & A
T WU ATEE B, A 50 0 e 3 5 HE 39 W =E i

[Question ID = 790][Question Description = 190_80_Geography_0CT22_Q90]
1. Both Statement I and Statement IT are true

FoE 1 30 I 59 o 2



2.

3.

4.

[Option ID = 3157]

Both Statement I and Statement IT are false

[Option ID = 3158]

Statement I 1s true but Statement IT 1s false

FzA [ wea 7, w0Fa a1 5990 2

[Option ID = 3159]

Statement I is false but Statement II iz true

FoE [ 390 B, 9w [ o 2

[Option ID = 3160]

Topic:- 80_PARTB_Set1

1)

Eead the following passage carefully and answer questions

Movements of people. goods and mformation have always been fundamental components of
human societies. Contemporary economic processes have been accompanied by a significant
increasze 1n mobility and accessibility. Although this trend can be traced back to the
industrial revolution. it significantly accelerated in the second half of the twentieth century
as trade was liberalized. economic blocs emerged and the comparative advantages of global
labor and resources were used more efficiently. Societies have become increasingly
dependent on thelr transport systems to support a wide variety of activities ranging. among
others. from commuting, supplying energvy needs. to distributing parts between
manufacturing facilities and distribution centerz. The unigue purpose of transportation is to
overcome space, which is shaped by a variety of human and phyvsical constraints such as
distance, time, administrative divisions and topography. Jointly. they confer a friction to any
moevement, commonly known as the fitetion of space. There would be no transportation
without eeosraphy and there would be no geozvaphy without transportation. The goal of
transportation iz thus to transform the geographical attributes of freight. people or
information. from an origin fo a destination. conferring on them an added value in the
process, The convenience at which this can be done — transportability — varies considerably.
Transportability refers to the ease of movement of passengers. freight or information. It 1s
related to transport costs as well as to the attributes of what 1= being transported (fragility.
perishable. price). Political factors can also influence transportability such as laws.
regulations. horders and tariffs. The specific purpose of transportation iz to fulfill a demand
for mobility. since transportation can only exist if it moves people. freight and information
around. Otherwise it has no purpoze. This 1= hecause transportation 1= dominantly the
outcome of a derived demand.
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The world has witnessed a significant acceleration in movement of people. goods and
information after the second half of the 20t Century, Which among the following ave the
reasons for this?

{A)  Liberalised trade
(B) Emergence of Economic Bloes
(T Low labour productivity

(D) Efficient uze of resources

Choose the correct answer from the options given below :

Tawa 7 2061 v F T § SAtEAl, W U gEA F S 8 Heeaqe dig =l | et 5
% F9 FAH TE B

(A)  FEFEA =

(B) =T T # EEa

(Q) = 49T el

(D)  HoreEl #1558 39

Hi= fou o fawea) @ wE 3 1 =9 S

[Question ID = 791][Question Description = 191_80_Geography_0OCT22_Q91]
1. (A)and (B) only

& (A) A7 (B)
[Option ID = 3161]
2. {A). (B) and (D) only

g (A). (B) 37 (D)

[Option ID = 3162]
3. {A). (Byand (C) only

F3 (A). (B) 357 ()

[Option ID = 3163]



4.

2)

(C) and (D) only

W= (C) #J1 (D)

[Option ID = 3164]

Eead the following passage carvefully and answer questions

Movements of people. zoods and information have always been fundamental components of
human societies. Contemporary economic processes have been accompanied by a significant
increaze 1n mobility and accessibility. Although this trend can be traced back to the
industrial revolution. it significantly aceelerated in the second half of the twentieth century
as trade was liberalized. economic bhlocs emerged and the comparative advantages of global
labor and resources were used more efficiently. Societies have become increasingly
dependent on thelr transport systems to support a wide variety of activities ranging. among
others., from commuting, supplying energy needs; to distributing parts between
manufacturing facilities and distribution centers. The unigue purpose of transportation is to
overcome space. which 1s shaped by a varety of human and physical constraints such as
distance, time, administrative divisions and topography. Jointly. they confer a firiction to any
mevement, commonly known as the fitction of space. There would be no transportation
without geography and there would be no geozraphy without transportation. The goal of
transportation iz thug to transform the geographical attributes of freight, people or
information. from an origin fo a destination. conferring on them an added value in the
process, The convenience at which this can be done — transportability — varies considerably.
Transportability refers to the ease of movement of passengers. freight or information. It is
related to transport costs as well as to the attributes of what 1= being transported (fragilitv,
perishable. price). Political factors can also influence transportability such as laws.
regulations, borders and tariffs. The specific purpose of transportation is to fulfill a demand
for mobility. sinee transportation can only exist if it moves people. freight and information
around. Otherwise it has no purpose. Thiz is hecause transportation iz dominantly the
outcome of a derived demand.
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[

1.

2.

3.

4.

Societies have become increasingly dependent on their transport systems for which of the
following reasons?

(A) Commuting

(B) Supplyving energy needs

(C) For manufacturing and distribution
(D) All of the above

Choose the correct anzwer from the options given below :

TATA T AR WA T A 6T 5 T A w0 AT § o e TR
(&)  FETEA

(B) =1 sEgTHarsl i HY FE

(©y fafmim vg faam = o

(D) FEFETH

=1 foo e et ® & O = o A A
Question ID = 792][Question Description = 192_80_Geography_0CT22_Q92]
(D) only

Fa7 (D)
[Option ID = 3165]

{A) and (B) only

F=e (A) 30 (B)

[Option ID = 3166]
(B) and (C) only

Fae (B) 97 (C)

[Option ID = 3167]
(A) and (C) only

e (A) 1 (C)

[Option ID = 3168]



3)

Eead the following passage carefully and answer questions :

Movements of people. zoods and information have always been fundamental components of
human societies. Contemporary economic processes have been accompanied by a significant
increaze in mobility and accessibility. Although this trend can be traced back to the
industrial revolution. it significantly accelerated in the second half of the twentieth century
as trade was liberalized. economic blocs emerged and the comparative advantages of global
labor and resources were used more efficiently. Societies have become mcteaamg]v
dependent on their transport systems to support a wide vamety of activities ranging. among
others. from commuting, supplving energy needs; to distributing parts between
manufacturing facilities and distribution cenfers. The unigue purpose of transportation is to
overcome space. which 1s shaped by a varety of human and phyvsical constraints such as
distance, time, administrative divisions and topography. Jointly. they confer a friction to any
movement, commonly known as the fitction of space. There would be no transportation
without geography and there would be no geogvaphy without transportation. The geal of
transportation is thus to transform the gecgraphical attributes of breight. people or
information, from an origin o a destination. conferring on them an added value in the
process. The convenience at which this can be done — transportability — varies considerably.
Transportability refers to the ease of movement of passengers. freight or information. It 1s
related to transport costs as well as to the attimbutes of what 1= being transported (fragility,
perishable. price). Political factors can also influence transportability such as laws.
regulations. horders and tariffs. The specific purpose of transportation i3 to fulfill a demand
for mobility. sinee transportation can only exist if it moves people. freight and information
around. Otherwise it has no purpose, This iz because transportation 1= dominantly the
outcome of a derived demand.

Te=tierEs T R e | Tied {10 T F I A
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What iz ‘transportability™

e — .
HiEeAE=al 74 &= ¢

[Question ID = 793][Question Description = 193_80_Geography_0CT22_Q93]

1.

2.

The ease of movement of passengers. freight or information,
TG, TS 39T F91 F T2 O gEd

[Option ID = 3169]
The difficulty of movement of passengers. freight or information,
T, AE-9TE S g1 F F d HAE

[Option ID = 3170]



3.

4.

4)

The outcome of movement of pazsenzers, freight or mformation.

[Option ID = 3171]

The laws and regulations governing the movement of passengers.

[Option ID = 3172]

Eead the following passage carvefully and answer gquestions :

Movements of people. zoods and mformation have always been fundamental components of
human societies. Contemporary economic processes have been accompanied by a significant
increaze 1n mobility and accessibility. Although this trend can be traced back to the
industrial revolution. it significantly accelerated in the second half of the twentieth century
as trade was liberalized, economic bloce emerged and the comparative advantages of global
labor and resources were used more efficiently. Societies have become increasingly
dependent on thelr transport systems to support a wide variety of activitles ranging. among
others. from commuting, supplying energy needs; to distributing parts between
manufacturing facilities and distribution cenfers. The unigue purpose of transportation is to
overcome space. which 1s shaped by a varety of human and phyvsical constraints such as
distance, time, administrative divisions and topography. Jointly. they confer a fiiction to any
movement, commonly known as the fiiction of space. There would be no transportation
without geography and there would be no geogvaphy without transportation. The geal of
transportation is thus to transform the gecgraphical attributes of freight. people or
information, from an origin o a destination. conferring on them an added value in the
process. The convenience at which thig can be done — transportabihity — varies considerably.
Transportability referz to the ease of movement of passengers. freight or information. It 1s
related to transport costs as well as to the attrbutes of what 1s being transported (fragility.
perishable. price). Political factors can also influence transportability such as laws.
regulations. horders and tariffs. The specific purpose of transportation 13 to fulfill a demand
for mobility. sinee transportation can only exist if it moves people. freight and information
around. Otherwise it has no purpose, This iz because transportation 1= dominantly the
outcome of a derived demand.
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What 1z understood by the term friction of space™”

o 5 i | s T



[Question ID = 794][Question Description = 194_80_Geography_0CT22_Q94]

1.

3.

4.

5)

Human and physical constraints that creates a friction to any movement of people.
freight and information.

T U HifdE S A S, We-S1E UF g § e § G660 w6 ¢

[Option ID = 3173]

Human constraints that create a friction to any movement of people. freight and
information.

HEa AF0d = SAHA1, S 9T3, T o 50 § W9 309 FA A

[Option ID = 3174]

Physical or natural constraints that create a fiiction to any movement of peaple,
freight and information.

e 9 TTRaE S, | =, TE-9Te, T9E F S 8 S99 309 0 A

[Option ID = 3175]

Human and phvsical constraints that create a friction to any movement of information
only.

T T Ao AT S A g F S J =59 300 WA A

[Option ID = 3176]

EFead the following passage carefully and answer questions

Movements of people. zoods and information have always been fundamental components of
human societies. Contemporary economic processes have been accompanied by a significant
increaze 1n mobility and accessibility. Although this trend can be traced back to the
industrial revolution. it significantly accelerated in the second half of the twentieth century
as trade was liberalized. economic hlocs emerged and the comparative advantages of global
labor and resources were used more efficiently. Societies have become increasingly
dependent on thelr transport systems to support a wide variety of activities ranging. among
others, from commuting, supplving energy needs: to distributing parts between
manufacturing facilities and distribution centers. The unigue purpose of transportation is to
overcome space. which 1s shaped by a varety of human and physical constraints such as
distance, time, administrative divisions and topography. Jointly. they confer a firiction to any
mevement, commonly known as the fiiction of space. There would be no transportation
without geography and there would be no geozraphy without transportation. The goal of
transportation iz thug to transform the geographical attributes of freight, people or
information. from an origin fo a destination. conferring on them an added value in the
process, The convenience at which this can be done — transportability — varies considerably.
Transportability referz to the ease of movement of passengers. freight or information. It 1s
related to transport costs as well as to the attributes of what 1= being transported (fragilitv,
perishable. price). Political factors can also influence transportability such as laws.
regulations, borders and tariffs. The specific purpose of transportation is to fulfill a demand
for mobility. sinee transportation can only exist if it moves people. freight and information
around. Otherwise it has no purpose. Thiz is hecause transportation iz dominantly the
outcome of a derived demand.
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Given below are twao statements:

Statement I: The specific purpose of transportation is to fulfill a demand for meohility.
Since transportation can only exist if 1t moves people. freight and
mnformation.

Statemet IT : Transportation i= dominantly the outcome of a derived demand.

In the light of the above statements, choose the correct answer from the options given below
E1E Rl on B b0

o 1 TirEsA 1 fAr= 3=5g T e T AT B, 906 URae a4 afEs 2
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[Question ID = 795][Question Description = 195_80_Geography_0OCT22_Q95]
1. Both Statement I and Statement II are true

Fo 1 30 oM 90 2

[Option ID = 3177]
2. Poth Statement T and Statemerit IT arve false

Fuq 1 7 11 561 9977 7

[Option ID = 3178]
3. Statement Iis true but Statement IT is false

Fo7 T | 7, 5% 0 11 5150 7

[Option ID = 3179]
4. Statement I1s false but Statement I1 1= frue

Fom I 35 E, A w99 0 5E 2

[Option ID = 3180]



Topic:- 80_PARTC_Set1

1)

Read the following passage carefully and answer guestions:

The Greek scholar Evatosthenes. who lived in the third century B.C.. was the first to use the
word geography. But humans were investizgating geographic gquestions long before thas. The
Greek geographers credit the beginning of geozraphical writings to Homer. but the earliest
known map was made by the Sumerians in about 2700 B.C. The study of geography zoes
back to the heginnings of human scholarship. The first amazing period of ntellectual
ferment that iz part of the written tradition of the Weztern world took place in anecient
Greece. culminating in the fourth and third centuries B.C. The Greeks developed the
procedures we deséribe as the scientific method. Plato. who developed the deductive
procedures, is the most offen guoted by those who prefer to give theory the position of chief
importance. Aristotle. who developed the inductive procedures, preferred to formulate his
concepts as generalizations of observed factz. Aristotle insisted on the importance of direct
ohzervation. instead of making logical deductions from theory. Among the ancient Greek
Philosophers. two hbasic traditions of geographic study are fo be found. One is the
mathematical tradition. starting with Thales. including Hipparchus known for locating
things and summarized by Ptolemy, The second iz the literary tradition. starting with
Homer. including Hecataeus and summarized by Strabo. A long period of decline zet in
during the Middle Azes. when gecgraphic horizons contracted and observations piled up in
Christian monasteries. Then the Age of Exploration hegan in the late 15™ centurv. and the
geographic horizons were agaln pushed back. The arrival of all these new innovations and
observations in Europe was enormously stimulating and started a sequence of events that
continues to the prezent. In the first place. the concepts derved from a literal reading of the
scriptures were challenged. and the battle to establish the principles of what we call
academic freedom began. This 1s the mght of professionally gualified scholars to seek answers
to questions, to publish their findings. and to teach what theyv believe to be the truth. free
from anv controls except the standards of scholarly procedure established within theiwr own

professions.
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The earliest investigation of geographic guestions starts with

[Question ID = 796][Question Description = 196_80_Geography_0OCT22_Q96]

1.

2.

3.

4.

Eratosthenes

- .

:.'I =15 ﬂ EI _;'

[Option ID = 3181]
Homer

[Option ID = 3182]
Maps prepared by Sumerians

[Option ID = 3183]
Origin of human scholarship

o T s

[Option ID = 3184]



2)

Read the following passage carefully and answer guestions:

The Greek scholar Evatosthenes, who lived in the third century B.C.. was the first to use the
word geography. But humans were investigating geographic guestions long before thiz. The
Greek geographers credit the beginning of geographical writings to Homer. but the earliest
known map was made by the Sumerians in about 2700 B.C. The study of geography zoes
back to the heginnings of human scholarship. The first amazing period of intellectual
ferment that 1= part of the written tradition of the Western world took place in ancient
Greece, culminating in the fourth and third centuries B.C. The Greeks developed the
procedures we describe as the scientific method. Plato, who developed the deductive
procedures., 1s the most often gquoted by those who prefer to give theory the pozition of chief
importance. Aristotle. who developed the inductive procedures, preferred to formulate his
concepts as generalizations of observed factz. Aristotle insisted on the mmportance of direct
ohszervation. instead of making logical deductions from theory. Among the ancient Greek
Philosophers. two basic traditions of gecegraphic study are to be found. One is the
mathematical tradition. starting with Thales. including Hipparchus known for locating
things and summarized by Ptolemy., The second iz the literary tradition. starting with
Homer. including Hecataeus and summarized by Strabo. A long period of decline set in
during the Middle Ages. when gecgraphic horizons contracted and ohservations piled up in
Christian monasteries. Then the Age of Exploration began in the late 15™® century. and the
geographic horizons were again pushed back. The arrival of all these new innovations and
observations in Eurcpe was enormously stimulating and started a sequence of events that
continues to the present. In the first place. the concepts derived from a literal reading of the
scriptures were challenged. and the battle to establish the principles of what we call
academic freedom began. This is the mght of professionally qualified scholars to seek answers
to questions. to publish their findings. and to teach what thev believe to be the truth. free
from any controls except the standards of scholarly procedure established within their own

professions.
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Inductive approach is related with —
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[Question ID = 797][Question Description = 197_80_Geography_0CT22_Q97]

1.

2.

3.

4.

3)

Deduced knowledge

F.r\ 3‘“:[

[Option ID = 3185]

Empireally observed knowledge

[Option ID = 3186]

Philosophical knowledge

SREIEF T4

[Option ID = 3187]

Theological knowledge

AT T

[Option ID = 3188]

Read the following passage carefully and answer guestions:

The Greek scholar Evatosthenesz. who lived in the third century B.C.. was the first to use the
word geography. But humans were investigating geographic guestions long before thiz. The
Greek geographers credit the beginning of geographical writings to Homer. but the earhiest
known map was made by the Sumerians in about 2700 B.C. The study of geography goes
back to the heginnings of human scholarship. The first amazing period of intellectual
ferment that is part of the written fradition of the Western world took place in ancient
Greece. culminating in the fourth and third cenfuries B.C. The Greeks developed the
procedures we describe as the scientific method. Plato., who developed the deductive
procedures, 1s the most often guoted by those who prefer to give theory the position of chief
importance. Aristotle. who developed the inductive procedures. preferred to formulate his
concepts as generalizations of ohserved facts. Aristotle insisted on the importance of direct
ohzervation. instead of making logical deductions from theory. Among the ancient Greek
Philosophers. two basic traditions of geographic study are to be found. One is the
mathematical tradition. startinz with Thales. including Hipparchus known for locating
things and summarized by Ptolemy, The second iz the literary tradition. starting with
Homer. including Hecataeus and summarized by Strabo. A long period of dechine set in
during the Middle Ages. when geographic horizons contracied and observations piled up in
Christian monasteries. Then the Age of Exploration began in the late 15™ century. and the
geographic horizons were again pushed back. The arrival of all these new innovations and
observations in Eurcpe was enormously stimulating and started a sequence of events that
continues to the present. In the firat place. the concepts derived from a literal reading of the
scriptures were challenged. and the battle to establish the principles of what we call
academic freedom began. This is the right of professionally gualified scholars to seek answers
to questions. to publish their findings. and to teach what thev believe to be the truth. free
from any controls except the standards of scholarly procedure established within their own

professions,
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Which one of the followings is not a feature of the Age of Exploration’
ftetEs § |7 FA g i e a6 2
[Question ID = 798][Question Description = 198_80_Geography_0CT22_Q98]
1. Promotion of search for truth
[Option ID = 3189]
2. Formulation of new interpretations

[Option ID = 3190]
3. Apademic restrictions

[Option ID = 3191]
4. Underming religious beliefs

[Option ID = 3192]



4)

Read the following passage carefully and answer guestions:

The Greek scholar Evatosthenes, who lived in the third century B.C.. was the first to use the
word geography. But humans were investigating geographic guestions long before thiz. The
Greek geographers credit the beginning of geographical writings to Homer. but the earliest
known map was made by the Sumerians in about 2700 B.C. The study of geography zoes
back to the heginnings of human scholarship. The first amazing period of intellectual
ferment that 1= part of the written tradition of the Western world took place in ancient
Greece, culminating in the fourth and third centuries B.C. The Greeks developed the
procedures we describe as the scientific method. Plato, who developed the deductive
procedures., 1s the most often gquoted by those who prefer to give theory the pozition of chief
importance. Aristotle. who developed the inductive procedures, preferred to formulate his
concepts as generalizations of observed factz. Aristotle insisted on the mmportance of direct
ohszervation. instead of making logical deductions from theory. Among the ancient Greek
Philosophers. two basic traditions of gecegraphic study are to be found. One is the
mathematical tradition. starting with Thales. including Hipparchus known for locating
things and summarized by Ptolemy., The second iz the literary tradition. starting with
Homer. including Hecataeus and summarized by Strabo. A long period of decline set in
during the Middle Ages. when gecgraphic horizons contracted and ohservations piled up in
Christian monasteries. Then the Age of Exploration began in the late 15™® century. and the
geographic horizons were again pushed back. The arrival of all these new innovations and
observations in Eurcpe was enormously stimulating and started a sequence of events that
continues to the present. In the first place. the concepts derived from a literal reading of the
scriptures were challenged. and the battle to establish the principles of what we call
academic freedom began. This is the mght of professionally qualified scholars to seek answers
to questions. to publish their findings. and to teach what thev believe to be the truth. free
from any controls except the standards of scholarly procedure established within their own

professions.

F=ietEs = F gEaE | ufee 65 uvE # I de

THI-gE A SATST T g g ST, Y 9eE AT A A Tee S50 4 | S o6 w5
Wqﬁmw —Toedl IO F S F T 2 IFHTWET?‘TTFI —HEH] T F A
=Y ) T B, TR WEAAE T S GEEeE] e 55 g 2700 1 F 5 o

P F AEEH F TR OFGE HE F AW H A A 2 | difs® W Teen GEagn e, Al
Wwﬁ%ﬁaﬁmﬂwmmﬁqmﬁﬁwéﬁﬁm—ﬁﬁhﬁm#ﬁmﬁﬁm
U7 Rl FATAT 4 A lqr-rum =1, To= =5 dmiE A & =9 § HH=d F | W A [Ege
T T W FIE oA 9EE A R, 3 WA T2 F BEH ATGE 3590 F 7, 98 FEATEE ISt 6
mﬂﬁﬁzﬁhﬁnmﬁmmwﬁlmﬁaﬂqumrmmm—ﬁm?wn
A FAUFONA] F HASG A F G09A1 S1| 30 F THgE | anEd HES w5 OF T 9 0
TET/ SR FA F R WOAR A WA A S W, e $OrE A 5 ge e
foerdt 2 | et S fem ® 3pE 20 A T wew 2, T e e v w st w1 A
%ﬂﬂ%ﬂﬂﬁ#ﬁ*ﬁ?ﬁﬂﬁﬂv—ﬁﬁqﬁéﬁﬁﬁﬂmmﬁmwﬁwﬁﬁﬁ#@w
, T FElzgE e # oAU THEE GE-HeY T A AT | WS- § 949 W UE AW A, S
uﬁﬂ?ﬁﬁﬂ?fﬁﬁﬁ%ﬂﬁﬂﬂﬂﬂh%—?ﬁﬂ“ﬂﬁﬂﬂ?ﬁﬂﬁﬁﬁﬂH?ﬂﬂﬂm Eul
TR B FE W 96 F Aies WWWIWF?WWWWWWW
mmmmmmmmmvﬁmﬂmmmﬁmm ECLiE
AIH TR A1 9EEEl F OOEF -0 § I ﬂﬁﬂmﬂmﬂ?ﬁm?ﬁmmﬂmia|qh4qd1d|‘ﬁlq_q;ié"i5éﬁ
THIOH T, AT TE AW AR A A0 # 95 [gem AR, e G 969 aE e 9 09
T fagA WA % Amesl , W El S aE T




Who promoted the logic of general to particular procedures?

e e e e

[Question ID = 799][Question Description = 199_80_Geography_0CT22_Q99]

1.

2.

3.

4.

5)

Eratosthenez

[Option ID = 3193]

Homer

L

[Option ID = 3194]

Anmstotle

[Option ID = 3195]

FPlato

=

[Option ID = 3196]

Read the following passage carefully and answer guestions:

The Greek scholar Evatosthenes, who lived in the third century B.C.. was the first to use the
word geography. But humans were investigating geographic questions long before thas. The
Greek geographers credit the beginning of geographical writings to Homer. but the earliest
known map was made by the Sumerians in about 2700 B.C. The study of geography zoes
back to the heginnings of human scholarship. The first amazing period of intellectual
ferment that i1s part of the written tradition of the Western world took place in ancient
Greece. culminating in the fourth and third centuries B.C. The Greeks developed the
procedures we describe as the scientific method. Plato. who developed the deductive
procedures. is the most often gquoted by those who prefer to give theory the position of chief
importance. Aristotle, who developed the inductive procedures, preferred to formulate his
concepts as generalizations of observed factz. Aristotle Insisted on the mmportance of direct
ohszervation. instead of making logical deductions from theory. Among the ancient Greek
Philosopheras. two basic traditions of gecgraphic study are to be found. One is the
mathematical tradition. starting with Thales. including Hipparchus known for locating
things and summarized by Ptolemy, The second iz the literary tradition. starting with
Homer. including Hecataeus and summarized by Strabo. A long period of decline set in
during the Middle Ages. when gecgraphic horizons contracied and observations piled up in
Christian monasteries. Then the Age of Exploration began in the late 15™® century. and the
geographic horizons were again pushed back. The arrival of all these new innovations and
observations in Eurcpe was enormously stimulating and started a sequence of events that
continues fo the present. In the first place. the concepts dertved from a literal reading of the
scriptures were challenged. and the battle to establish the principles of what we call
academic freedom began. This is the mght of professionally qualified scholars to seek answers
to questions. to publish their findings. and to teach what thev believe to be the truth. free
from any controls except the standards of scholarly procedure established within their own

professions.
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Who belongs to the mathematical traditions of locating places?

[Question ID = 800][Question Description = 200_80_Geography_0CT22_Q100]
1. Homer

[Option ID = 3197]
2. Straho

o

[Option ID = 3198]
3. 'Hecataeus

P
(e

[Option ID = 3199]
4. Hipparchus

r
2 I

[Option ID = 3200]

Topic:- 12_GP_SH2_Set1_A



R The followinz table presentz the details about the number of students enrolled in three
different academic programmes namely. BA., B.C.A and B.B.A in five different colleges

(A-E) during the year 2020. Based on the data in the table. answer the questions 1-5:

College-wise enrollment of students

College | Academic programme
BA |BCA | BEBEA

A 275 | 350 425

475
C 325 | 300 325

D 450 | 375 425
E 325 | 425 225

Frfefiga arofl &d 2020 i s@fa 4 ofe sEm-wem FerE (AE) § 99 fba-fim s s
A, did s A, B, g it et ) den % an G fam wea w5l 21 anof § foo
Mg (ETE) WO, -5 9l % It g

Frers-an faenfe=) = Fmmea

EaE! eRTaTTEeh I

i 410,

FS LS

450 375 475

325 4325 225

= O 2| =

What is the average number of students studving B.C.A. in all the five colleges together?

(1) 365 (Z) 395
(3) 350 (4) 355

i afE e ° ves oy A e, w1 sere w0 R Taenfel ) sfem gen wn 20

(1) 362 (2) 385
(3) 330 (4) 355

[Question ID = 1051][Question Description = 101_00_General_45_0CT22_Q01]
1. 1 [Option ID = 4201]
2. 2 [Option ID = 4202]
3. 3 [Option ID = 4203]
4. 4 [Option ID = 4204]



2) The followinz table presentz the details about the number of students enrolled in three
different academic programmes namely. BA., B.C.A and B.B.A in five different colleges

(A-E) during the year 2020. Based on the data in the table. answer the questions 1-5:

College-wise enrollment of students

College | Academic programme
BA. |B.CA. | BBA,

A 275 | 350 425
B 300 | 325 AT5
C 325 | 300 325
D 450 | 375 125
E 325 | 425 225

fratafas gl & 2020 61 3@fa 4 9l sFF-30m S (AE) ° 99 - st T
diu., i diu. s i, 2, s qitea faenfdai 6 gen % an d faeon wed w5 2) gl | foo
M0 (ER1) W oIaE, 1-5 9 o 3w dfeu

Frers-an faenfe=) = Fmmea

i 410,

FS LS

450 375 475

325 4325 225

= O 2| =

What 1s the respective ratio of total number of students studying in B.C.A. in the colleges C
and E together to those studyving in B.A. in the colleges A and B together?

(1) 24 .23 2y 25:27
(3) 29: 23 (4) 29:327

C 31 E s § v @ # #1340, § werm w0 feafedi o A st B wer § v my | A,
Ao T el F Fe Hen w e - 3en S w9 27

(1) 24 - 323 (2) 26

L

7
(3) 29: 23 (4) 29:27

[Question ID = 1052][Question Description = 102_00_General_45_0CT22_Q02]
1. 1 [Option ID = 4205]
2. 2 [Option ID = 4206]
3. 3 [Option ID = 4207]
4. 4 [Option ID = 4208]



3) The following table presentz the details about the number of students enrolled in three
different academic programmes namely. BA. B.C.A and B.B.A. in five different colleges

(A-E) during the vear 2020, Based on the data in the table. answer the guestions 1-5:

College-wise enrollment of students

College | Academic programme
BA. | B.CA. | BBA,

A 275 | 350 425
300 | 325 475

C 325 | 300 325
D 450 | 375 425
E 325 | 425 225

fr=feafaa grofi =d 2020 61 @M § 99 So-3E ST AE) 3 @9 fm-Ta s s
i, didi i A, 2, o it fenfd 6 sen % an i faaw weEn s 2 A | fo
MU B (211) T oIaiE, 1-5 9w & 3w dfeu

e -gn Taenfe= =1 IpmeA

v, | "o, | Hidie,

450 375 425

= 9 2 =@

325 4325 225

What is the respective ratio of total number of students studyving in B.C.A.. B.A. and B.B.A.
in all the collezes together?

(1) 71 :67: 75 (2) 67:71:7b
(3) 71:68:75 (4) 75:71:68

ofl wrers 4 v oy 4 AL, Ao s o § serm e w il ) oge den w0 sem-
FeA— HIIE 1 B

1
i

(1) T1:867:75 (2) 6
(3) 71:88:75 (4
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[Question ID = 1053][Question Description = 103_00_General_45_0CT22_Q03]
1. 1 [Option ID = 4209]
2. 2 [Option ID = 4210]
3. 3 [Option ID = 4211]
4. 4 [Option ID = 4212]



4 The followinz table presentz the details about the number of students enrolled in three
different academiec programmes namely. B.A. B.C.A and B.B.A. in five different colleges

(A-E) during the year 2020. Based on the data in the table. answer the questions 1-5:

College-wise enrollment of students

College | Academic programme

BA |BCA | BBA

A 275 | 350 425
B 300 | 325 475
C 325 | 300

325
D 450 | 375 425
225

E 325 | 4925

Frfafiaa aroft ad 2020 6 s@fa o ofe sem-3em SEE AE) O dF fm-Toa seeefies o
Ao, A o A 2, qmifea frenfdEi 6 wen % an i faa wag s 20awh § foo
T T (E1R) W OAENE, 1-5 9 &I dfan

Frer-an faenfes) w1 Fmmea

A, | =g, | didEdio

A | 275 | 350 425
300 | 325 475
325 | 300 325
450 | 375 425

325 4325 225

= O 2| =

Number of students studving in B.B.A. in college C forms approximately what percent of the
total number of students studving in B.B.A. in all the five colleges together?

(1) 21% 2y 39%

(3) 33% 4y 17%

i afe e 0 UE WY § @A § seggd e 2 faenfua ) e g e o 8 il |
e &1 18 fnfe = e gfaws &0 27

(1) 21% (2)  39%
(3) 33% (4) 17%

[Question ID = 1054][Question Description = 104_00_General_45_0CT22_Q04]
1. 1 [Option ID = 4213]
2. 2 [Option ID = 4214]
3. 3 [Option ID = 4215]



4. 4 [Option ID = 4216]
>) The followinz table presemtz the details about the number of students enrolled in three
different academic programmes namely. BA., B.C.A and B.B.A in five different colleges

(A-E) during the year 2020. Based on the data in the table. answer the questions 1-5:

College-wise enrellment of students

College | Academic programme
BA |BCA |BEBA
A 275 350 43;

2
B 300 | 325 475
C 325 | 300 325
D 450 | 375 125
E 325 | 425 225

frfafas aroft ad 2020 6 s@fa § ofe sem-3em SEE AE) § d6 fem-Toa seeefis o
diu,, @ e, s i, 2, e At faenfd @ e % e 9 faaon wea s ] @l § foo
T T (E11) W oIaE, 1-35 9 &% 3R dten .

FrerE-an o= = 9

"giu. | "o

A5

& 4.1,

A | 975 350 495

300 325 475
325 300 325
450 375 425

326 4325 225

= 9 = =

Number of students studving in B.A. in colleze B forms what percent of total number of
students studying in all the programmes together in the same college? (rounded off to two
digits after decimal)

(1) 26.86% (Z) 2V.27T%

(3) 29.84% (4) 32.51%

U% @ Fctd H Uk @1 H owdfi s 8 s aa @ T f ge gen d see B oA i |
eya & 17 faenfe &) gen fea ufdem 87 (29" & 912 21 A% 9%6)

(1)  26.86% 2) 27.27%

(3)  29.84% 4) 32.51%

[Question ID = 1055][Question Description = 105_00_General_45_0CT22_Q05]
1. 1 [Option ID = 4217]



2. 2 [Option ID = 4218]
3. 3 [Option ID = 4219]
4. 4 [Option ID = 4220]

Topic:- 12_GP_SH2_Set1_B

1) The Kaufman Assessment Battery for children contains P subtests across the various ages.

but a maximum of @ subtest is administered to any one child. where (P. Q) =

(1) (10. 5) (2) (12, 8)
(3) (16.13) (4) (20,15)

el & U wiEH wEEEe J2 5 Pe-fia el & foe Poag-giem #1 sfde @ R,
feafem stfusman Q sa-vfiem &1 &l vs arete w1 @) foran =10 2, 5181 (P Q) = l

(1) (10..5) 2y {12.8)
(3) (16. 13) (4) (20.15)

[Question ID = 1056][Question Description = 106_00_General_45_0CT22_Q06]
1. 1 [Option ID = 4221]
2. 2 [Option ID = 4222]
3. 3 [Option ID = 4223]
4. 4 [Option ID = 4224]

2) PBased on taxonomy of educational objectives, the ability to understand the meaning of
material 1= known as

(1) Enowledge (2) Responding
(3) Comprehension (4) Application

SNferen Fawei & i g venia el F WY 1 guee 1 g & e w9 H S 8 e
(1 (2)  gfefsRaT &
(3) Guz (4) 39

[Question ID = 1057][Question Description = 107_00_General_45_0CT22_Q07]
1. 1 [Option ID = 4225]
2. 2 [Option ID = 4226]
3. 3 [Option ID = 4227]
4. 4 [Option ID = 4228]



3) Which among the following are used as General Aptitude Tests?
(A)  Test of Cognitive Skills (TCS)
(B) Otis — Lennon School Ability Test (OLSAT)
(C) Metropolitan Achievement Test (MAT)
(D)  Boehm test of Basic Conceptz-Revised (Boelim—R)

(E) Thurstone test

Choose the correct answer from the options given below :

(1) (A), (B), (C)only
(2)  (A). (B). (D) only
(3)  (B). (C). (D) only
(4) (C), (D), (E) only

fereferfin @ & Folt e srfisfy gliemil % =9 § wge fao o #2

(A)  HIERYE R F g (F i uy)

By  HAlfem == faererm S yiem (o0 ve vy d)

(C)  wgMifeied Iverfed whem (vm v )

(D)  rsfom @ s At -y -fraese (EfEm-sm)

(E) w2 qhigm

Hret feu e fasmedi O A Wl 3A ) =Ea Fifaw

(1)  =Ad (A). (B). (C)

(2) %4 (A). (B). (D)

(3) %44 (B). (C). (D)

(4 %4 (0), (D). (E)
[Question ID = 1058][Question Description = 108_00_General_45_0CT22_Q08]
1. 1 [Option ID = 4229]
2. 2 [Option ID = 4230]

3. 3 [Option ID = 4231]
4. 4 [Option ID = 4232]



4) For classroom testing. the length of the test will vary depending upon
(A) Purpose of teat
(B) Kinds of items used
(C) EKnowledge of subject teacher
(D)  Age and ability of the pupils tested

(E) Instructional objective tested

Choose the most appropriate answer from the options given below :

(1) (A). (B), (C), (D) only
(2) (A), (C), (D), (E) only
(3) (A (B). (D). (E) only
(4)  (B), (C), (D), (E) only

& afiep &3 foo ofieqn & g/ safa fim aef o B sof .
(A e # EE

(B)  WIF el & WER

(Cy Tz & forers &1 54

(D) e v e faentda 61 @y s g

(B)  3F<onH 3evg famam wiam faan 7w #)

41 fen w0 faeredi U 8 w=E 399 I0 & g5 Ffu

(1)  #ad (A). (B), (C), (D)

(2)  Fad (A), (). (D). (B)

(3)  FAd (A), (B). (D). (E)

(4) %A (B), (C). (D). (E)
[Question ID = 1059][Question Description = 109_00_General_45_0CT22_Q09]
1. 1 [Option ID = 4233]
2. 2 [Option ID = 4234]

3. 3 [Option ID = 4235]
4. 4 [Option ID = 4236]



5)

(A)
(B)
(©
(D)

Mateh List I with List IT.

List I
(Name of Intelligence Test)
WAIS-R

WISC-R
WPPSI-R
Kaufman-ABC

List I
(Applicable to age group)
() forages3to71
(II) foragesBtol6
(IIT) for ages 16 to 74
(IV) forages 21 to127

Choose the correct answer from the options given below :

(1
(2)
(3
4

(A)-IL). (B)-(I1). (C)-(D). (D)-(IV)
(A)-(ID), (B)-(I), (C)-(IV). (D)-(IID
(A)I), (B)-IV), (C)-(II), (D)-«(ID)
(A)-(IV). (B)-(III). (C)-IT). (D)-(D

T o W14 JA1-11 =) foeae ifam
g1

(ifge v &1 9 )
WAIS-R

(A)
(B)
(C)
(D)

WISC-R

WPPSLR
FHEH-ABC

111
(Fm m wgz & feo @m & 21)
M 3ATL & g+ fer
(1) 64169 &l 3g & fem
(III) 16H 74 94 i 219 % few
(IV) 21 #4121 ad & 31y % ferm

H1= Teu v fged] 9 ¥ |91 390 & 994 Hifau

(4)

(A)III). (B)-(ID). (C)-(D). (D)-(IV)
(A)ID). (B)-(I). (C)-(IV). (D)-(IIT)
(A-(I). (B)-(IV), (C)-(I1I), (D)~(ID)
(A)-(IV), (B)-(I1D), (C)-(II). (D)-(D

[Question ID = 1060][Question Description = 110_00_General_45_0CT22_Q10]

A WN -

1 [Option ID = 4237]
2 [Option ID = 4238]
3 [Option ID = 4239]
4 [Option ID = 4240]



6) Given below are two statements :

Statement (I) :  If there are few extreme scores in the distribution. mode will be the most
appropriate measure of central tendenecy.

Statement (IT) ; Mean deviation is the most sophisticated measure of dispersion of
distribution.

In the hight of the above statements, choose the correct answer from the options given
helow :

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (IT) are false
(3) Statement () 1s true but Statement (II) 1s false
(4) Statement (I) is false but Statement (II) 1s true

4= 71 & oo & -

wH (D) :  ufg forelt faemu O oo sredifoes smomes 2,01 weers dia il o waifass soge am &)
e (1) : oreg ferereta s gk 1 weifas ayua o 2

IYTRE F9E % e °, 4 fou o faeeq 0 B wd 3w e 9 Fif

(1)  &ud (D) 30 1) g1 5o 2

(2) A (D) 3 1D TH 35F 7

(8) A (D) 5 2, i F2H (1D 3759 2

(4) & (1) #5932, dfd ®2H (D) 5 2
[Question ID = 1061][Question Description = 111_00_General_45_0CT22_Q11]
1. 1 [Option ID = 4241]
2. 2 [Option ID = 4242]

3. 3 [Option ID = 4243]
4. 4 [Option ID = 4244]

7)  If a reasearcher has to compare the means across three groups gquantitatively, which among

the following will be the most appropriate statistical technique for this purpose
(1) Correlation analysis {2) Regression analysis
(3) Chi-square test (4) Analysis of variance

gfe fomdl siusral 1 7 wgE J ofogm F anygr o wemE H A 8 A o3e s et
i | @ wEifus 39 JifeTs awrs 20l

(1) He-Hay fagemm (2) ufrms fasemo
(3)  wr-a e (4)  wEry fasem

[Question ID = 1062][Question Description = 112_00_General_45_0CT22_Q12]
1. 1 [Option ID = 4245]
2. 2 [Option ID = 4246]
3. 3 [Option ID = 4247]
4. 4 [Option ID = 4248]



8)  Match List T with List TI

ListI
Referencing Style
{A) APA Style
(B) MLA Style

(C)  Chicago Style

(D) IEEE Style

Last IT
Format of Citation

() Author. date.... (Sharma: Kailesh
suggested photochromatic effect
(2008))

(II) (Author Surname. Year)..... (Sharma,
2006)

(IIT) Number in square brackets...... This
theory was first put forward in 2006
[10]

(IV) Authorname m text. allows
footnotes. .... Sharma develops this
argument (67-69)

Choose the correct answer from the options given below :

(1) (A)-(IID). (B)-(IL). (C)-(IV). (D)D)
(2) (AM(D. (B)-(IIL). (C)-(1D). (D)-{IV)
(3) (A)-(IL). (B)-(IV). (C)-(D). (D)~(III)
(4) (A)-(IV). (B)-(I). (C)-(I1I). (D)-(IT)

il T oh g1 & e dif .
AT

(A)  APA

(B) MLA 3=

(€  Tormm S0

(D) IEEE i

44 fa mm famwed § A 9 33w 9w Fifau
(1) (AT, B)-D. (C)-AV). D)D)
(2) (A)(I). (B)-11I). (C)-(I). (D)-(IV)
(3 (A)-(IL), (B)-(IV). (C)-(D). (D)-(I1T)
(4) (A)-(IV). (B)-(T). (C)-(III). (DY-(ID)

AT
T o ATEY

e, =22 ... (wwi, demw Eues

wIER R gHa2 (2006))

(3712 EHE, $90).... (9091 2006)

(II) a0 &4 e s ... fen warfi am e

T2 HHES 39 2006 (10)
HER 94 g I, UETH e I
2aee fou smiE=za (67-69)

[Question ID = 1063][Question Description = 113_00_General_45_0CT22_Q13]

1. 1 [Option ID = 4249]
2. 2 [Option ID = 4250]
3. 3 [Option ID = 4251]
4. 4 [Option ID = 4252]

9)

(1) CSIR
(3) ICSSR

‘Scheme for Trans-disciplinary Research for India’s Developing economy’ was initiated by
(2) DST

(4 UGC

w=hm Fr g -fefaferd frad G sfrears 2aafm gemndl fees gr a6

(1) It vy 318 30
(3) g e

4.9

[Question ID = 1064][Question Description = 114_00_General_45_0CT22_Q14]

1. 1 [Option ID = 4253]
2. 2 [Option ID = 4254]
3. 3 [Option ID = 4255]
4. 4 [Option ID = 4256]



10 Eyror can creep into interview data due to following factors :

(A) Failure to record answers acurately

(B) Influencing the response of the respondents
(C)  Interviewees are intelligent

(D) Interviewer is able to explain the question well

(E)  Failure to establish appropriate interview envirenment

Choose the carrect answer from the options given below :

(1) {A). (B). (D) only
(2 (A), (B). (E) only
(3) (B), (C). (D) only
(4) (C), (D), (E) only

fa=feriiaa @rahi & &r sadian d gfe an 21 A 8 |
(A) 3 & G A1 W e w1 fawen)

(B) TR % Uege @) GuTied e

(C)  HEIEhI &3arel gfgur 7

(D) H&TERR earen 9ol 1 sreEll ave syren @ 4 Had A)
(E)  HIE@ER % felu sqeqes geia 296 1 fasea)

49 few o fasedl § | 1E 39 %1 =999 i -

(1) @& (A), (B), (D)
(2) &4 (A), (B). (E)
(3) A (B). (C). (D)
(4) %4 (C). (D). (E)

[Question ID = 1065][Question Description = 115_00_General_45_0CT22_Q15]
1. 1 [Option ID = 4257]
2. 2 [Option ID = 4258]
3. 3 [Option ID = 4259]
4. 4 [Option ID = 4260]

1) When the receiver assigns a meaning to a language symbol in communication. it is called
(1) Response (2) Perception
{3 Reverse labeling (4) Meaning mapping

HUYo § wE U T v g wdrer & feo el fafde g 2, =9 wEa 2y
(D i (2) UrgE =Y
(3)  ufdadl safan (fEd wafem) (4) 31 = 5 f==m

[Question ID = 1066][Question Description = 116_00_General_45_0CT22_Q16]
1. 1 [Option ID = 4261]
2. 2 [Option ID = 4262]
3. 3 [Option ID = 4263]
4. 4 [Option ID = 4264]



12)

A teacher. to be an effective communiecator. should resort to

(A)
(B)
(©)
(D)
(E)

Acquisition of elitist background

Natural flow of information

Voluntary support to learning

A system of immediate and regular feedback
Convoluted presentations

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B). (C) only
(B). (C), (D) only
(C). (D), (E) only
(A). (D). (E) only

o ToIETeR 61, U UHTE AUNERA BF & o e g o fea-fen =) wem o =niee e

(A)
(B)
(©)
(D)
(E)

w98 gy %1 azn #
AT w1 Al v

siferm % oo of=ss ooy
Fftd 3R fafam ylagfe ) s

= feu m faspedi O & | 3 &1 = i

(L)
(2)
(3)
(4)

F4e (A), (B). (C)
4 (B). (C). (D)
F4¢ (C), (D). (E)
&ae (A), (D). (E)

[Question ID = 1067][Question Description = 117_00_General_45_0CT22_Q17]
1. 1 [Option ID = 4265]
2. 2 [Option ID = 4266]
3. 3 [Option ID = 4267]
4. 4 [Option ID = 4268]



13)  Given below are two statements :

Statement I : The ritualistic view of communication 1s that 1t 1s not used for the

promotion of self-interest.

Statement IT ; In contrast, the transmission mode of communication considers it as an

instrumental act.

In the light of the above statements, choose the most approprigte gnswer answer from the

options given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement T and Statement IT are incorrect
(3) Statement I 1s correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement 1T 1s correct
919 & wea fau e 3 .
weH () : a5 W e 2 gr @i 0 deae 2 968 g1 #e 2

e (D) : 29 farefia, |imw) &) gare yhn 34 9l &6 & =9 4§ g 2|
ITIF HYH * wAre O, A= fqu e e 4 | wen 390 I F 95 fifau

(D @A (D 3R (qD gH |58 2
(2) & (D) 3N (1) g e 2
(3) & (D HA 2, | &A1) TEh R

(4)  &wE (D) 7EA 2, iR e (I =59 8

[Question ID = 1068][Question Description = 118_00_General_45_0CT22_Q18]
1. 1 [Option ID = 4269]
2. 2 [Option ID = 4270]
3. 3 [Option ID = 4271]
4. 4 [Option ID = 4272]



14)  The application of John Dewey's theory to communication issues in sequence is :

{A)  The criteria

(B) The analysis

(C) The selection and execution
(D) The problem

(E) The possible solutions

Choose the correct answer from the options given below :

(1)  (B). (C). (E). (D). (A) only
(2) (C). (D). (B). (A). (E) only
(3) (A). (C). (D). (E). (B) only
(4) (D), (A, (E). (B). (C) only

am i sH e s fagi w smm m wg a2

(A) °EH

(B)  Fawemm

(C) =34 3 Fma=rad
(D) qHuEI

(E) murfaa &«

49 feu mu faere § 8 | 39 & Jaq Hifsu

(1) (B). (C). (E). (D). (A)

(2)  (C), (D), (B), (A). (E)

(3) (A). (C), (D). (). (B)

4) (D), (&), (E), (B). (C)
[Question ID = 1069][Question Description = 119_00_General_45_0CT22_Q19]
1. 1 [Option ID = 4273]
2. 2 [Option ID = 4274]

3. 3 [Option ID = 4275]
4. 4 [Option ID = 4276]



15)  Mateh List T with List IT

ListI Tast IT
{Communication variety) (Description)
(A) Parvalanguage (). Objects and 1mages with cultural
context
(B) Proxemics (I) Hesitation noise
(C) Colour (IIT) Personal space
(D)  Artifact (IV) Different moods

Choose the correct answer from the options given below :
(1) (A)-T). (B)-(III). (C)-(IV), (D)-(D)
(2) (A)-(IID). (B)-(IV). (C)-(I), (D)-(II)
(3)  (AIV). B)D). (O)-(ID). (D)-(III)
(4) (A, B)(1D). (C)-(IV), (D)-(IID)

g1 % w4 511 %1 foerm Fifan
LSS H 1T
(s figsra ) .
(A) fwes () g () HFaids wed aredl ae=qu 3 fa=
(B) =y feren (Ih) Here =i
(© = () Fafer 2=
@) weEh V) foa-me

4= fev o Feepen o %{ﬂ’a‘rw.amﬁm i

(1) (A)A(IL), (B)-(I1I), (C)-(IV). (D)-(T)

(2) {(A)(IID). (B)-(IV). (C)-(I). (D)-(II)

{3 (A)-(IV). (B)-(D). (C)-(IT}. (D)-(1LI}

4 (A)-D), B)-ID. (C)-(IV), (D)-(IIT)

[Question ID = 1070][Question Description = 120_00_General_45_0CT22_Q20]
1. 1 [Option ID = 4277]
2. 2 [Option ID = 4278]

3. 3 [Option ID = 4279]
4. 4 [Option ID = 4280]

16) What comes next in the following sequence?

ET,JR. MP. PN.?
(1) SM (2) EM
3) SL (4) RL

fpfrfan @ & sgu o =0 s

ET, JR. MP. PN. ?

(1) SM (2) EM

(3) SL (4) RL

[Question ID = 1071][Question Description = 121_00_General_45_0CT22_Q21]
1. 1 [Option ID = 4281]
2. 2 [Option ID = 4282]
3. 3 [Option ID = 4283]
4. 4 [Option ID = 4284]



17)  Given below are two statements :

Statement 1 : The length of a tree increases at the rate of 5% every year on its previous
vear's length. If it iz 2.0 feet now. 1t will increase 0.31525 feet in three
Vears.

Statement IT : A vendor sells an 1item for § 56 making a profit of 40%. The cozt price of the
item is § 40.

In the light of the above statements. choose the correct answer from the options given
below :

(1) Both Statement [ and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement T 1s true but Statement IT 1s false
(4) Statement I 1= false but Statement IT 1= true

419 21 e few e #

e[ (0): Tl g &) e g o fogs ad 6 o9 9 5% s 6 @ | 9g 9@ 2) 3fe 3@ 3E
I ER 2 Al dF = H 0.31525 Fe ag amn|

w9 (M) : *i2 e forel @ 1 56 w90 4 91 40% o9 91 2| 39 95 %1 AFE 979 40 599 71

IV FE & A 4, 9 fou o e § 3 "9 3 &1 99 il

(1) &4 (D) 3R () & &= 2

(2 wUH (D 3R 1) &1 3H 2

(3) WU (D) EE 2, dfea %ge (1) 375 2
(4) e (D) 3197 2, wifed s (1) 97 2

[Question ID = 1072][Question Description = 122_00_General_45_0CT22_Q22]
1. 1 [Option ID = 4285]
2. 2 [Option ID = 4286]
3. 3 [Option ID = 4287]
4. 4 [Option ID = 4288]

18) Every hour the number of bacteria in a sample doubles. If the orginal number of bacteria is

100, and 50 bacteria are removed every two hours, after five hours, there are
(1) 2500 bacteria (2) 2700 bacteria
(3 1350 bacteria (4) 2800 bacteria
ferefl Hogm 4 ufa 92 FAfen 1 e deEl @1 od 21 afe S=hfen 4 ge gm0 100 2 3 wS

2 % A 50 Jfen wed WA 2 @ w92 e 3k G Bl
(1) 2500 H&#TT1 (2) 2700 =i

(3) 1350 g (4) 2800 =#Fdfrn

[Question ID = 1073][Question Description = 123_00_General_45_0CT22_Q23]
1. 1 [Option ID = 4289]
2. 2 [Option ID = 4290]
3. 3 [Option ID = 4291]
4. 4 [Option ID = 4292]



19)
which direction is Ramesh in now?
(1) North (2) South
(3) East 4y West

a0y 390 fesn 4 @ren 2, f grfi fesn 4 g 2, @9 qa: grdi fewn O qean B 3 aervem 9rfl a0 A
2| @ Y frm feom 1 22

(1) 3¢ (2) =fam
(3) w4 (4) ofsam

[Question ID = 1074][Question Description = 124_00_General_45_0CT22_Q24]
1. 1 [Option ID = 4293]
2. 2 [Option ID = 4294]
3. 3 [Option ID = 4295]
4. 4 [Option ID = 4296]

20)  (Consider the following statements:

Ramesh goes to North. then turns right. then turns right again and then goes to the left. In

(A) A train travelling 180 km/hr taok 5.4 seconds to cross a stationary man. Length of the

train is 250 m.
(B) Ifabuscovers 172 km in 4 hours. the speed of the bus is 154.8 m/s.

(C) If25X+25Y¥=110, the average of X and Y15 2.2

Which of the above statements is/are correct?
(1) (B) and (C) only

(2) (A) and (B) only

(3) (C) only

(4) (A) and (C) only

fraferga #eel w faan $ifso

(A) 180 Frerndier ufa =2 4 tFR 8 Feraed TerEl & e we st # 9 e 4 5.4 deve
| TAEl F dmE 250 g 2

(B) dfa &1 @8 4 92 § 172 farerndrer ol 2 a1 =) 1 nfa 2 154.8 dier ufq vz

(C) e 25X+25¥Y=1102 @1 X 31 Y& 37Hd 2.2 2

4= feu o faemedl O A 5 39 @ =9 Ffau

(1) & (B) 3 (C)

(2)  F4FE (A) 31 (B)

(3)  FdaA (C)

(4)  FEA (A) 3N (C)
[Question ID = 1075][Question Description = 125_00_General_45_0CT22_Q25]
1. 1 [Option ID = 4297]
2. 2 [Option ID = 4298]

3. 3 [Option ID = 4299]
4. 4 [Option ID = 4300]



21)

Given below are two statements : One is labelled as Assertion (A) and the other iz labelled as
Reason (R).

Assertion (A): In a valid categoral svllogism, 1f a term is distrbuted in the coneclusion,

then it must be distributed in the premises.

Reaszon (R) : The conclusion of a valid argument cannot assert any more than is

contained In the premises.

In the light of the above statements. Choose the correct answer from the options given below :

(L)
(2)
(3)

(4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) iz true but (R) 1s false

(A) is false but (R) 1s true

Hr9 @1 FeH fan o 2 uk HUEeH (Assertion A) % 9 1 fefigd 2 @ g9 % FFU (Reason R)

HEIY :

AT (A) : ol da =g -ar 4, afe %8 ve fd O faafm 2, @ 38 smavas w9 0 9% 9

o ot i & =nfeu|

FW (R) - feedl s w1 o1 Forserd ok v St sem stfiess e A & e

I HYA & AT 1, 419 fau e fasmen 4 | g5d 3w a8 Eilm

(1)
(2)
(3)

@)

(A) 31 (R) 21 504 & 311 (R), (A) <l ¥ = 2
(A) 3l (R) €1 w74 2, @A (R). (A) =1 58l s 44 2
(A) B57 2, wihd (R) 3787 2

(A) 397 2, difF (R) 9 2

[Question ID = 1076][Question Description = 126_00_General_45_0CT22_Q26]
1. 1 [Option ID = 4301]
2. 2 [Option ID = 4302]
3. 3 [Option ID = 4303]
4. 4 [Option ID = 4304]



22) Identify the formal fallacy committed in the argument :
ATl eriminals are human beings,
All saints are human beings

Therefore all saints are criminals.

(1) Fallacy of Tllicit process of Major Term
(2) Fallacy of Tllicit process of Minor Team
(3) Fallacy of undistributed Middle Term
(4 Fallacy of Four Terms

fopeferfaa o 8 s a9 6 vzeEm &+
audj sl g 2 Al
adl 54 W w1 2

a1 ) |Ja s 2 2

(1)  wgwa 92 6l 349 ulwn &1 @ g (2) o 9g ) 3y ufsEn @ A4 g
3y  sfuafE ey g2 = T 2 (4) =PI T g

[Question ID = 1077][Question Description = 127_00_General_45_0CT22_Q27]
1. 1 [Option ID = 4305]
2. 2 [Option ID = 4306]
3. 3 [Option ID = 4307]
4. 4 [Option ID = 4308]

23) Identify the fallacy committed in the following argument :
“An elephant is an animal: therefore. a small elephant 1s a small amimal”.

(1) Argument from Ignorance (2) Fallacy of Irrelevant Conelusion
(3) Fallacy of False Cause (4) Fallacy of Equivocation

frefefaa a6 & 76 em 6 gm=m #1
“zIefl U WHET B A U 31 71l U w1 A 20

(1)  SISFE & a6 (2) g e & Ak 9
(3)  TazERw w5 oAb am (4) FHEdF 96 N

[Question ID = 1078][Question Description = 128_00_General_45_0CT22_Q28]
1. 1 [Option ID = 4309]
2. 2 [Option ID = 4310]
3. 3 [Option ID = 4311]
4. 4 [Option ID = 4312]



24)

Given below are two statements :

Statement I : The Nyaya system does not accept Arthapatii as an iIndependent source of

valid knowledge.

Statement I1:  The Nyaya system reduces Arthapatti to an inference of anvayi type.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Poth Statement I and Statement IT are false

(3 Statement I is true but Statement II is false

{4) Statement T is false but Statement IT is true
419 &1 wer feu o 2
FeE (D) : =1 oITe] SEmfE F 32 9@ & e "5 F =9 0 e 38 @vd 2
F4H (1) : =12 ] sirafa s gen s J am e 2

IR YA & HieE 4, S fou m ey O 8 w948 39 @ 9 fifaw

(1)

(2)

(3)

(4)

HeE (D) 30 (1) =1 oy 2
&4A (D) 31 (1) §H1 35 2
T (D) 5 B, @i Fe (1) 3159 2

FHu (D) 315 8, i S99 (1D 77 2

[Question ID = 1079][Question Description = 129_00_General_45_0CT22_Q29]
1. 1 [Option ID = 4313]
2. 2 [Option ID = 4314]
3. 3 [Option ID = 4315]
4. 4 [Option ID = 4316]



25)
Reaszon (R).

Assertion (A) :

Beason (R) :

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

In Samanyvatodrsta inference the universal relation between the major
and middle term depends on causal uniformity.

The middle term of the inference is related to the major term neither as a
cause nor as an effect.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1z the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 12 NOT the correct explanation of (A)
(3 (A) 18 true but (R) is false

(4) (A) is false but (R) is true

di @1 ®ua fqu o 2 U 9fUFeH (Assertion A) % ¥4 W feifigd # A1 g4 3% SV (Reason R)

HEQH

HITFEE (A)

= (R) :

HHTEATEE S 0 ATE 300 #d % A da8Y FHOE B amEE R

ST 1 7 % @ 8 A F By H A H e g w g e R

I HYA & e O, Fi= T e faser 4 8 | T = il

(1) (&) 30 R &H w9 i (R), (A) F HA e 2

(@) (A 3R R 4F1 9w, S (R). (A) 1 57 sare T4 2
(3) (A HA 7, dlhd (R) 357 2

(4 (A ¥E 2, dfF R) @ 2

[Question ID = 1080][Question Description = 130_00_General_45_0CT22_Q30]

1. 1 [Option ID = 4317]
2. 2 [Option ID = 4318]
3. 3 [Option ID = 4319]
4. 4 [Option ID = 4320]

26)

With respect to Computers, BIOS is an aeronym for :

(1) Binary Input Qutput Source

(2) Basic Input Output Support

(3) Binary Input Output System

(4) Basic Input Output System

Fegedl F el H, A A o vy foua v Hem 27

(1) =3l 3992 #r3ege 50 (2) fas 9 A3 =4Il

(3) =g R Iy fawm (4) Afaa g 13Ty e

[Question ID = 1081][Question Description = 131_00_General_45_0CT22_Q31]

1. 1 [Option ID = 4321]
2. 2 [Option ID = 4322]
3. 3 [Option ID = 4323]
4. 4 [Option ID = 4324]



27) Identify the correct arrangement of the following storage capacities in the decreasing order

(A) 10 Mega Bytes
(B) 10 Tera bytes
(C) 10 Exa bytes

(D) 10 Yotta bytes

Choose the correct answer from the options given below :

() (D). (©). B (&)
(2) (C). (D), (B). (A4)
(3) (C). (B). (D), (&)
(4) (B). (C). (D). (A
foeifefaa sdzrm smash & wf saEnd s £ oeEn #

(4) 10 T =7y
(B) 10 2 2r5ed
(C) 10 T =T34

(D) 10 9@ =132y

H fou e fempedi § @ @A 3 @1 =9 Hifa

(1) D). (C). (B). (&)
(2) (©). (D). (B). (A)
(3) (C), (B). (D), (A)

(4) (B), (€). (D). (A)

[Question ID = 1082][Question Description = 132_00_General_45_0CT22_Q32]
1. 1 [Option ID = 4325]
2. 2 [Option ID = 4326]
3. 3 [Option ID = 4327]
4. 4 [Option ID = 4328]



28) Given below are two statements with regard to social media :

Statement I : ‘Twitter' is the most well-known microblogeing site.

Statement 11 : Youtube' is the largest video sharing site.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT 1s false

{4) Statement I is false but Statement I is true
Hr 1 e oo o 2 ) e difem & gwfm 2
F4 (D) Zferer Haifus ufag aEwEaiim HEe 2
FH (1) : o 7 Ay 52 difza o w2

I FGA % AT §, 4= feu mu fEeen 8 3 w98 3w &1 999 Sifau

(1)  #2[ (@) 3% (1) o+ 79 2

(2 & () 3R @) aH1 e 2

(3)  ®uH (1) B 2, dfdA $eR (1) 39 2
@) ®A (D) 3 8, ol e (1) 53 2

[Question ID = 1083][Question Description = 133_00_General_45_0CT22_Q33]
1. 1 [Option ID = 4329]
2. 2 [Option ID = 4330]
3. 3 [Option ID = 4331]
4. 4 [Option ID = 4332]



29) Which of the following file formats are suitable for distributing video files across the

internet?
(A) WMV
(B) WAV
(€¢) MIDI
(D) .MP3
(E) MP4

Choose the correct answer from the options given below :
(1) (A) and (D) only
(2) {A) and (E) only
(3) (D) and (E) only

(4) (B) and (C) only

Ffafaa 4 5 #17 § wEa sz gz-e = difed) wreel & e & foe o 47

(A) WMV
(B) WAV
(C) MIDI
(Dy MP3
(E) .MP4

419 fau e fgwmen 8 § 9 I 95 it .

(1)  &ad (A) 57 (D)
(2) %A (A) R (E)
(3) @& (D) 31 (B)
(4) %= (B) 31 (C)

[Question ID = 1084][Question Description = 134_00_General_45_0CT22_Q34]
1. 1 [Option ID = 4333]
2. 2 [Option ID = 4334]
3. 3 [Option ID = 4335]
4. 4 [Option ID = 4336]



30)  Match List T with List IT

LastI List II
{Computer Terms) (Description)
(Ay OMR (I} Used by banks to read codes on a
cheque
(By MICR (IT) prevents unautheorized acecess to a
computer network
(C) RAM (ITI) Marks multiple-choice questions
(D) Firewall (IV) Stores programs and data temporarily

Choose the correct answer from the options given below :

(1) (A, (B)-I). (C)-(II). (D)-IV)
(2) (A, (B)-IV). (C)-(D). (D)1L)
(3) (AII). (B)-(D. (C)-(IV). (D)-(I)
4 (A-D. (B)-I). (C)-(IV), (D)-(ID)

-1 F wrg -1 =1 ferm Hifa
i1 HHI-IT
(et srazyel) (ferem)
(A) 3T T W (D T 9% & w2 B Tgd & fan A6 gE
EE g
(B) uy wmE # 3w (ID fofl Fvger Jead T sFAlaFRd T5e )
TieRdT 2
(C) Ty (D) =afaseda s %1 fafza w2 2
(D) wiara (IV) 9rrmg 3 2/ &) e Y2r & 2

A Teu u faweqi 0 9 @& 30 =1 =99 it

(1)  (A)-IID. B)-(D). (C)«ID). (D)-IV)

(2} (A)-(III). (B)-(IV), (C)-(D. (D)-(ID

(3)  (A)-ID). (B)«(D. (C)-(IV), (D)ID

(4) (A)-(I). (B)-(II0), (C)-(IV). (D)-11}
[Question ID = 1085][Question Description = 135_00_General_45_0CT22_Q35]
1. 1 [Option ID = 4337]
2. 2 [Option ID = 4338]

3. 3 [Option ID = 4339]
4. 4 [Option ID = 4340]



31)  Which of the following are true about Joint Forest Management (JFM)?
{A)  Its concept was introduced through the Environment (Protection) Act. 1986
(B) It involves both state forest department and local community
(C) Women also participate in this
(D) It varies from state to state and is known by different names in different languages

Cheose the most appraopriate answer from the options given below :

(1)  (A), (B) and (C) only
(2)  (B). (C) and (D) only
(3) (A (C) and (D) only
(4) (A). (B). (C) and (D)
R HE Bz (3 vg vg) & way g Fofefas O 9 a9 w8 27
(A) R IEyEn TAfE (e sfalEm, 1086 % men | vafdd 6 )
B) 9 T 94 faym 3 e e <E et w2
(C)  zad afeensii 1 of wnfrerd g6 21

(D) g 411 81 7= 4 Hep-3en 2 Hin fom grnsd O fism gl 8 el s 2

4 fem o foeredi 0 8 @ad 0w I & 959 Hifa
(1) 4 (A). @) 31 (©)
(2)  %ad (B). (C) 31 (D)
(3)  ad (A), (C) 3 (D)

4 (A B). (C) 31 D)

[Question ID = 1086][Question Description = 136_00_General_45_0CT22_Q36]
1. 1 [Option ID = 4341]
2. 2 [Option ID = 4342]
3. 3 [Option ID = 4343]
4. 4 [Option ID = 4344]

32) Disaster management plan was launched by mimstry of Home affair in

(1) 2005 (Z)y 2011
(3) 2016 (4) 2020

1% UHIEE gE Mg Yeu g1 fam ad o o) o o .

(1) 20051 (2) 20114
(3) 20164 (4) 20204

[Question ID = 1087][Question Description = 137_00_General_45_0CT22_Q37]
1. 1 [Option ID = 4345]
2. 2 [Option ID = 4346]
3. 3 [Option ID = 4347]
4. 4 [Option ID = 4348]



33)

Environmental problems associated with soils are

(A)
(B)
(©
(D)
(E)

Nutrient leaching
Metal contamination
Salinity and Alkalinity
Ozone depletion

Fine aerosols in ambient air

Choose the correcf answer from the options given below :

(1)
(2)
(3)
(4)

(A). (B). (C). (E) only
(B). (C). (E) only
(A). (B). (C). (D) only
(A), (B), (C) only

qy § Hafua gargeifa guwerd g 2

(A)
(B)
(©
D)
(E)

e de e

T Hgl

ST s ata
qirasiig a1y 4 98 UHEE

fra feu m fasedl 4 7 w6 I 9 = it
F4EA (A). (B). (C). (E)

+H# (B), (C), (E)

#4e (A). (B). (). (D)

47 (A), (B). (C)

(1)
(2)
(3)
(4)

[Question ID = 1088][Question Description = 138_00_General_45_0CT22_Q38]
1. 1 [Option ID = 4349]
2. 2 [Option ID = 4350]
3. 3 [Option ID = 4351]
4. 4 [Option ID = 4352]

34)

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).
Assertion (A) : Geothermal energy 1s not a renewable source of energyv.
Reason (R) : The processes for extracting and using geothermal power are more alin to

those for centralized fossil-fuels than the dispersed renewable supplies of

the natural environment.

In the light of the above statements. choose the corréct answer from the options given below :

(1)
(2)
(3)

(4)

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true hut (R) 1= false

(A) 1s false but (R) 15 true



M 41 ®e fau 2 o v AT9FE (Assertion A) % #4 4 feffiga 2 a1 g#1 35 %7 (Reason R)

HETY .

AT (A) : 8 AT e, 39 W Al w98 2
HE (R) : o A e svENu ain wam i ubered el ofaw R gl S
i 61 g | Sdid S gua 6 ufwrar & sl dueE 2

IPTF F & A 4, 99 feo o fawen 4 |5 58 3w 9ge Hif

@) (A 3 (R) ZH F 2 30 (R), (A) FI 6E e 7

(2) (A3 (R ZE HR 2, dfE (R), (A) 6w sman 458 2
(8 (A ¥ 7, didd (R) 393 2

@) (A wE 2, W (R) qS 2

[Question ID = 1089][Question Description = 139_00_General_45_0CT22_Q39]
1. 1 [Option ID = 4353]
2. 2 [Option ID = 4354]
3. 3 [Option ID = 4355]
4. 4 [Option ID = 4356]

3%) What is the correct sequence of concentration of various components of producer gas?
(A) CH:
(B)y CO:
(C) CO
(D) Na

Choose the correct answer from the options given below :
(1) (D)= (C)={A)>(B)
(2) D) > ()= (B)> (A)
(3) (€)= (D)= (A)=(B)

(1) (C)= (D) = (B) = (A)



yrepm i & fafua gedl & gdza 1 wE s e Ry

(A) CH.
(B) CO=
(C) co
D) No
44 feu wm fawedi 4 4 @ I = i
1) @D=(0)=A)=(B)
(2) D) =(C) > (B) = (A)
(3>  (©O)=(D)=>(A)=(B)
@  (O=D=>B=A)
[Question ID = 1090][Question Description = 140_00_General_45_0CT22_Q40]

1. 1 [Option ID = 4357]
2. 2 [Option ID = 4358]
3. 3 [Option ID = 4359]
4. 4 [Option ID = 4360]

36) Mahadev Govind Ranade, Gopal Ganesh Agarkar, Gopal Krishna Gokhale were known to
insizt on the idea

(1)

(2)

(3)

(4)

Keep women unenlightened in order to preserve the superiority of men

Provide equal educational opportunities to both boys and girls. through co-educational
institutions

All domestic work should be done by women alone

If women study science they would lose faith in religion

uEred iR TS, T T AR, TS T R R R A g & e s e e

(1) 991 = 2] 547 vEd & fom gfzensi =) swgg v

(2)  me-Toen gens & grem § a1 Sifermis & aaE SEe 3= geE w9

(3)  mefl wie e Fae afzens g feu s anfang

(4) = ufgem fasm @1 sergm e 2 9 oud § 3 favam 98 @)

[Question

ID = 1091][Question Description = 141_00_General_45_0CT22_Q41]

1. 1 [Option ID = 4361]
2. 2 [Option ID = 4362]
3. 3 [Option ID = 4363]
4. 4 [Option ID = 4364]



37) National knowledge commission was established in the yvear
(1) 1998 (2) 2000

(3) 2005 (4) 2007

T A e e P A g

(1) 1998 2 2000
(3) 2005 (4) 2007

[Question ID = 1092][Question Description = 142_00_General_45_0CT22_Q42]
1. 1 [Option ID = 4365]
2. 2 [Option ID = 4366]
3. 3 [Option ID = 4367]
4. 4 [Option ID = 4368]

38)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reaszon (R).

Assertion (A):  Education enables upward social economic mobility and is a key for
escaping poverty. Over the past decade major progress was made towards
increased access to education and enrolment at all levels particularly for
girls.

Reason (R) : The global pandemic has far reaching consequences that may jeopardize

hard won gains made in improving school education.

In the hight of the above statements. choose the most appropriate ansiwer from the options
given below;

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3 (A) 1= correct but (R) 18 not correct.

(4) (A) 1s not correct but (R) 1s correct.

Hre @t e[ o 2 - v wAfaeeE (Assertion A) & ¥4 4 feif@d 2 A1 g4 36k FAU (Reason R)
HETY

saEE (&) . e FE Avnfa- s afaiem § weEE w2 o e g 8 siEw
yfigr furdl 21 frsel g 4 favmrs sl & foe mfl = @ foen &) e
AR AT H qfe % af 9 Jgradte wiia g2 o)

&M (R) : Afves rrrfl @ gl wara ggn w faen e foen 8 gan & e d g3 wiia o
EIaE 3 A 2

IV YA & AT §, e foqu e fawen O # qeR 39w 39 & 99 i

(1) (A 3 (R) 2H1 981 2 301 (R), (A) 1 &d) =qve 2

(2)  (A) 31 (R) &1 9dl 2, “ifFE (R). (A) &1 T =amsn T8 2

(3) (A @A 2, wfea R) TF T74 R
@ QA FE 2, e (®) T R



[Question ID = 1093][Question Description = 143_00_General_45_0CT22_Q43]
1. 1 [Option ID = 4369]
2. 2 [Option ID = 4370]
3. 3 [Option ID = 4371]
4. 4 [Option ID = 4372]

39) Given below are two statements :

Statement I : Dewey equated schools to communities and education to a social process.

Statement II : Chomsky expressed that ultimate aim of education is production of
individuals which are different from each other mn terms of quality.

In the light of the above statements, Choose the correet ansier from the options given below :

(1) Both Statement I and Statement 1T are true
(2) Both Statement I and Statement 1T are false
(3) Statement I is true but Statement II is false
(€] Statement I is false but Statement II is true

=1 €1 9 fau mu & .

FeE (1) : STl 4 el %) HYEET o HAH a1 e ) At afEn o wuE aaE 2
FeE (1) ArE=hl A & A 6 e @ sifes 32y v i dUR e 2 S e ) gfe |
wHh-gHt | fim A

I FYF & AATF °, 4 fou o faman 0 8 w4 3w e w9q difew

(1)  &F (1) 30 (I0) &1 5 2
(2)  wF () 3 (1) €1 3reeg 2
(3)  FYE (D) A 2, diea w2 (1) 6 2

(4) R () 3 7, dfEd w99 (1D 57 2
[Question ID = 1094][Question Description = 144_00_General_45_0CT22_Q44]
1. 1 [Option ID = 4373]
2. 2 [Option ID = 4374]

3. 3 [Option ID = 4375]
4. 4 [Option ID = 4376]

40)  Which of the following characteristics pertains to Non-conventional learning?

(1) On campus education with fixed time
(2) Teacher centered learning

(3) Reguirement of regular attendance
(4 No fixed curriculum

f=tferfiga fasmansdi § =t o Hi-arufre foam § dafua 27
(1)  Fryffed oo et afrer snenfE fen

(2) e sz sk

(3)  frafug aufeafy 6 smavasn

(4) = Ffvaa we=ad #51 9 #9

[Question ID = 1095][Question Description = 145_00_General_45_0CT22_Q45]
1. 1 [Option ID = 4377]
2. 2 [Option ID = 4378]
3. 3 [Option ID = 4379]



4. 4 [Option ID = 4380]

Topi

1)

c:- 12_GP_SH2_Set1_C
Read the following passage and answer questions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish stereotypes from modes of representation whose principal
concern is not the world, it 1= Important for us to do so. especially as our focus 1s
representation in media fictions, which are aesthetic az well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction: The type is any character constructed through
the use of a few lmmediately recognizable and defining traits. which do not change or
‘develop’ through the course of the narrative and which peint to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multiphicity
of traits that are only gradually revealed to us through the course of the narrative, a
narrative which 15 hinged on the growth or development of the character and is thus centered
upon the latter in her or his unique individuality, rather than pointing cutwards to a world. In
any society. it 1s the novelistic character that is privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetoric-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general =sccial issues tend nevertheless to end up telling the story of a
particular individual. hence returning social issues to purely personal and psvchelogical
ones. Once we address ourselves to the representation and definition of social eategories, for
example. alcoholics. we have to consider what 1s at stake in one mode of characterization
than another.

Frafafiga meams %1 afgu 3 w93 9 46 9 50 9F & U F1 I S

areet feamda wg faam &1 gl ) | % w9 0 gad 2| 22 9 gera: s e & gfas 6 e
faem g fawa fova 981 2, % afidl A 99 & 4 999 A8 2, 60 ofi 7un fom ven o fasme
wreE el 2 Fife U Wiy ditga fhaem o Feloa 2 9 disedgiss s amifas w21 g8 vfme d
wg feao sreqie Al @re gwR R gEe Aol 6 faem 3eidi 2 sefe g R w afrarda. 3ees
4w wfedyrs &0 Tma: 9fe fw & s gm ofearfea fen o 21 9z 2 o o sfige s
urfeqier sfte T % greEm H el T FIE uE R W e e o dRA gesrd 2 fasfad 48 e 2
I A UG HHE 6 I, STEH] faemdsil Rl 3T 29T HAd 21 24 2129 & favdia 39 % UH g
# fory v wafay sfie i gm afarfie faen smen 2 A afa % fawm @ fel sin arefl @aw ) 3w
Al &4 o aare wofl fafere dafesrm @ *fza e feaw & grem 9 - zan arE gse w
21 TRl T 0 e |fE o G e 3 e w9 f aEed # aits e 4 Juilach e 6w e
FHd W OEgE A FHHYEE 6 qee 4 oAt @ gEe sifas 21 g wE A stivs vl d e
= Hifas g2 &) vl w2, siad: fad eafe fagm 6 e @ 21 3w amifas fae 6
ari fasg =y 4 duime 3l gamEsnte faudi 9 & 2l 31 9 By wntres gie @ e aed 2
3t 37 afvaifea #@ § S fe sl & R %@ 2, 20 92 FaEn e uza 2 fE afs ke s
fopefl vk =9 0 w2y 1 sua FEE R R )

Representations that appear in the media fictions are

(1) Aesthetic constructs (2) Reflection of real world
{3) Defining characters (4) Matenalistic characterisation

tfifean foaem 4 gFara gfeegn # -

(1)  Hfedgrs graa (2) andfas gun #1 ufafaes
(3)  ufarfyg Faaam == (4) ifasrard =fra faam

[Question ID = 1096][Question Description = 146_00_General_45_0CT22_Q46]



A wnN =

2)

1 [Option ID = 4381]
2 [Option ID = 4382]
3 [Option ID = 4383]
4 [Option ID = 4384]

Read the following passage and answer questions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish stereotypes from modes of representation whose principal
concern is not the world. it is important for us to do so. especially as our focus is
representation in media fictions. which are aesthetic as well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction. The type is any character eonstructed through
the use of a few immediately recognizable and defining traits. which do not change or
‘develop’ through the eourse of the narrative and which point to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multipheity
of traits that are only gradually revealed to us through the course of the narrative, a
narrative which 1s hinged on the growth or development of the character and 1s thus centered
upon the latter in her or his unigue individuality, rather than pointing outwards to a world. In
any society. it 1s the novelistic character that iz privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetorie-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general sccial issuez tend mevertheless to end up telling the story of a
particular individual. hence returning social issues to purely personal and psychelogical
ones. Once we address curselves to the representation and definition of social categories, for
example, alcoholics. we have to consider what is at stake in one mode of characterization
than another.

fafafiga mams % afgu o w99 | 46 @ 50 9F & w1 F1 I S

aret fawia wg faam & gfHar 1 J= & w9 0 gad 2| 19 9 ged: we & giesqo £ e
fomram wen fome fava 41 2, % ofa A gas w0 8 vga 94 5, Tl weR fe e e e
el 2 Fife s wrad difgm feaeml o frefoa 2 o diedyres s amifas dv=m 21 38 vfws d
wg feau s WAl WrE gwn R gE avi 6 fae 3gidi 2 sefe s e w sy sems
4 394 Higdwsh HE A 9iE feew & w9 gm gfearia T S 21 98 oy g ot sliEe sih
uriraries 3ffel Ui < HIeAm | el T S UE R W w & 2 gged o1 fawtaa 98 @ R
3 A oeE AER g, e faoma 3 g w2 g eree & faufa aem & v g
# Tl v wafay sfie i gr afeaifes T smm 2 oo =fa % fawm @ fede si amef saw o sm
:qffmfam%m_mﬂifarmaufaﬁﬂmaﬁraﬂ*mfammmmu Hi-4 791 qHA Wehe Al
71 TRl T 1 v |fE o i e 3 v w0 AEe # it e g wuilask a6 w9 e
FHd W OEgE I FHEYER 6 qee 0 At & gEe slas 21 g9 FE A stigsm v d e
W HEaE g2 H i T B, siaa: faed satw faim B sl @l 21 sme amfaes faem
argHl favrg =9 A Fafwe 3 g9dar-e ol 8 # @6l 81 9@ 79 anntaes gfoei @ e a4 2
3 37 fifud e 7 A4 f s 0 R @ 7, 24 g faan s gga 2 fe afE e s
foefl v = 0 sy 1 M@ EE W R

Sterecotypes are characterized by

(1) Immediate recognition of people (2) Fictional narration
(3 Absence of social constructs {4y Broadness of function
wg faam &) fagmmn 2 -
(1y = = osfre gEeEE (2) eI waTfeE

(8) WIS WA 6l s (4) FE &l SHFA



[Question ID = 1097][Question Description = 147_00_General_45_0CT22_Q47]
1. 1 [Option ID = 4385]
2. 2 [Option ID = 4386]

3.

3 [Option ID = 4387]

4. 4 [Option ID = 4388]

3)

Read the following passage and answer questions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish sterectypes from modes of representation whose principal
concern is not the world, it 1= Important for us to do so. especially as our focus 1s
representation in media fictions, which are aesthetic az well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction. The type is any character constructed through
the use of a few immediately recognizable and defining traits. which do not change or
‘develop’ through the course of the narrative and which peint to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multiplicity
of traits that are only gradually revealed to us through the course of the narrative, a
narrative which is hinged on the growth or development of the character and is thus centered
upon the latter in her or his unigue individuality, rather than pointing cutwards to a world.In
any society. it 1s the novelistic character that iz privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetoric-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general =scdcial issues tend nevertheless to end up telling the story of a
particular individual, hence returning social issues to purely personal and psychological
ones. Once we address ourselves to the representation and definition of social eategories, for
example, alcoholics. we have to consider what is at stake in one mode of characterization
than another.
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Any character in the tvpe will reflect

(1) The illusory world

(2) The changeable traits of individuals
(3 The unchangeable traits of individuals

(4) The sub-categories of representation
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[Question ID = 1098][Question Description = 148_00_General_45_0CT22_Q48]
1. 1 [Option ID = 4389]
2. 2 [Option ID = 4390]

3.

3 [Option ID = 4391]

4. 4 [Option ID = 4392]

4)

Read the following passage and answer guestions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish sterectypes from modes of representation whose principal
concern is not the world. it is important for us to do so. especially as our focus is
representation in media fictions, which are aesthetic as well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction. The type i1s any character constructed through
the use of a few 1mmediately recognisable and defining traits. which do not change or
‘develop’ through the eourse of the narrative and which point to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multiphicity
of traits that are only gradually revealed to ug through the course of the narrative, a
narrative which 18 hinged on the growth or development of the character and is thus centered
upon the latter in her or his unique individuality, rather than pointing cutwards to a world. In
any soclety 1t is the novelistic character that is privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetorie-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general scocial issuez tend mevertheless to end up telling the story of a
particular individual, hence returning social issues to purely personal and psychological
ones. Once we address ourselves to the representation and definition of social categories. for
example. alecoholics. we have to consider what 1s at stake in one mode of characterization
than another.
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Why the novelistic character is privileged over the type?

(1)

(2)

(3)

(4

Due to the demand of the narrat_ive

Because of single definable trait
As it 1s part of a sub-category called stereotype

Because of preference of social rhetoric to the individual.
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(1)

(2)

(3)

(4)

w1 fem <61 g
UFe T Sfe -
ik g7 v Il w7 famm @ fen 2

dafeh & 7Y anarias aifa & 9iga

[Question ID = 1099][Question Description = 149_00_General_45_0CT22_Q49]
1. 1 [Option ID = 4393]
2. 2 [Option ID = 4394]
3. 3 [Option ID = 4395]
4. 4 [Option ID = 4396]

3)

Read the following passage and answer questions :

Walter Lippman refers to stereotypes as a projection on to the ‘world’. Although he is not
concerned primarily to distinguish stereotypes from modes of representation whose principal
concern is not the world. it is important for us to do so. especially as our focus is
representation in media fictions, which are aesthetic az well as social constructs. In this
perspective, stereotypes are a particular sub-category of a broader category of fictional
characters, the type. Whereas stereotypes are essentially defined by their aesthetic function.
namely a mode of characterisation in fiction. The type is any character eonstructed through
the use of a few immediately recognizable and defining traits. which do not change or
‘develop’ through the eourse of the narrative and which point to general, recurrent features of
the human world. Th opposite of the type is the novelistic character, defined by a multipheity
of traits that are only gradually revealed to us through the course of the narrative. a
narrative which 1s hinged on the growth or development of the character and 1s thus centered
upon the latter in her or his unigue individuality, rather than pointing cutwards to a world. In
any society. it 1s the novelistic character that iz privileged over the type. for the obvious
reason that the society’s privileges-at any rate. at the level of social rhetoric-the individual
over the collective or the mass. For this reason. the majority of fictions that address
themselves to general sdcial issuez tend nevertheless to end up telling the story of a
particular individual. hence returning social issues to purely personal and psychelogical
ones. Once we address curselves to the representation and definition of social categories. for
example, alcoholics. we have to consider what 1s at stake in one mode of characterization
than another.
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Most novelists, while addressing social issues, prefer fictionalisation of

(1) The masses (2) Social sub-categories

(3)  Social privileges (4) Personal issues
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1. 1 [Option ID = 4397]
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3. 3 [Option ID = 4399]
4. 4 [Option ID = 4400]






